BID TABULATION SHEET

Title: Mountain View Park, Phase 1, Hillsborough Township, Somerset County, New Jersey Opening Date: Thursday, February 12, 2015 Contract #: 14018

Total Bids Received: 14	Signed Proposal	Stock Disclose	Non- Collusion	Affirm Action	NJ BRC	IRAN	PW Cont Regist	Proposal Bond	Surety	Notes
Montana Construction Corp Inc 80 Contant Ave Lodi, NJ 07644	х	х	х	22643	х	х	x	х	х	\$17,250,000.00
Applied Landscape Technologies 145 River Road Montville, NJ 07045										\$21,152,017.00
Petillo Incorporated 167 Flanders Netcong Rd. Flanders, NJ 07836										\$18,367,911.00
Vollers PO Box 5297 3311 Rt. 22 North Branch, NJ 08876										\$22,217,756.00
Tarheel Enterprises, Inc 2000 Route 35 North Morgan, NJ 08879										\$21,673,382.65
Carbro Constructors Corp 605 Omni Drive Hillsborough, NJ 08844										\$19,137,575.30
Kyle Conti Construction, LLC 749 Clawson Ave Hillsborough, NJ 08844	х	Х	х	36744	х	х	x	х	Х	\$17,497,794.00

BID TABULATION SHEET (Page 2)

Title: Mountain View Park, Phase 1, Hillsborough Township, Somerset County, New Jersey

Opening Date: Thursday, February 12, 2015

Contract #: 14018

Total Bids Received: See Page 1	Signed Proposal	Stock Disclose	Non- Collusion	Affirm Action	NJ BRC	IRAN	PW Cont Regist	Proposal Bond	Surety	Notes
KC Construction Company 1737 Stout Drive Ivyland, PA 18974										\$18,990,630.65
VA Spatz and Sons Construction, Inc 91 Lone Pine Drive Berkeley Heights, NJ 07922										\$19,447,138.17
Tomco Construction, Inc 22 Howard Blvd Suite 204 Mt. Arlington, NJ 07856	х	х	х	23928	х	х	x	х	х	\$16,745,678.61
Black Rock Enterprises, LLC 1316 Englishtown Road Old Bridge, NJ 08857										\$21,995,573.85
D'Annunzio & Sons Inc 136 Central Avenue Clark, NJ 07066										\$24,577,000.00
Berto Construction Inc 625 Leesville Ave Rahway, NJ 07065										\$20,708,817.41
Epic 136 Eleventh Street Piscataway, NJ 08854										\$19.999,693.00

	SOMERSET COUNTY ENGINEERING - BID TABULATI					BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I					Tomco Construc	stion Inc	Montana Constru	uction Corn Inc	Kyle Conti Consti	ruction LLC
	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE					22 Howard Blvd		80 Contant Ave.	uction corp. inc.	749 Clawson Ave	
	CONTRACT No. 14018	_ 1				Mt. Arlington, N.		Lodi, NJ 07644		Hillsborough, NJ	
	BIDS RECEIVED ON 2-12-15			Engineer's Estima	ato	(BID #1)	07030	(BID #2)		(BID #3)	00044
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
1	PERFORMANCE BOND AND PAYMENT BOND	DOLLAR	1.00	\$200,000.00	\$200.000.00		\$127,584.00	\$80,000.00	\$80.000.00		\$137,000.00
2	PROGRESS SCHEDULE	LS	1.00	\$5,000.00	\$5,000.00	+)	\$2,075.00	\$25,000.00	\$25,000.00	\$5.000.00	\$5.000.00
3	MOBILIZATION	LS	1.00	\$400,000.00	\$400,000.00		\$371,341.00	φ20,000.00	φ20,000.00	\$1,209,676.70	\$1,209,676.70
4	FIELD OFFICE TYPE C SET UP	UNIT	1.00	\$15,000.00	\$15,000.00	. ,	\$9,573.00	\$15,000.00	\$15,000.00	\$31,200.00	\$31,200.00
5	FIELD OFFICE TYPE C MAINTENANCE	MO	27.00	\$1,000.00	\$27,000.00		\$51,121.80	\$1,500.00	\$40,500.00	\$150.00	\$4,050.00
6	INCENTIVE/DISINCENTIVE	LS	1.00	\$200,000.00	\$200,000.00		\$200,000.00	\$200,000.00	\$200,000.00		\$200,000.00
7	CONSTRUCTION LAYOUT	DOLLAR	1.00	\$80,000.00	\$80,000.00		\$147,033.00	\$71,660.00	\$71.660.00	\$290,000.00	\$290,000.00
8	INLET FILTER TYPE 2, 4' X 4'	UNIT	117.00	\$25.00	\$2,925.00	. ,	\$20,627.10	\$236.00	\$27,612.00	\$100.00	\$11,700.00
9	CONCRETE WASHOUT SYSTEM	LS	1.00	\$2,000.00	\$2,000.00		\$12,551.00	\$3.969.00	\$3,969.00	\$3,500.00	\$3,500.00
10	BIORETENTION SYSTEM	SY	3000.00	\$70.00	\$210,000.00		\$148,950.00	\$48.00	\$144,000.00	\$35.00	\$105,000.00
11	HEAVY DUTY SILT FENCE, BLACK	LF	16600.00	\$3.00	\$49,800.00	\$4.10	\$68,060.00	\$1.80	\$29,880.00	\$3.00	\$49,800.00
12	HAYBALE	UNIT	250.00	\$25.00	\$6,250.00	\$9.85	\$2,462.50	\$43.00	\$10,750.00	\$4.00	\$1,000.00
13	CONSTRUCTION DRIVEWAY	TON	190.00	\$40.00	\$7,600.00		\$5,187.00	\$31.00	\$5,890.00	\$25.00	\$4,750.00
14	OIL ONLY EMERGENCY SPILL KIT, TYPE 1	UNIT	1.00	\$2,000.00	\$2,000.00	\$1,193.00	\$1,193.00	\$2,756.00	\$2,756.00	\$1,200.00	\$1,200.00
15	IMPERMEABLE LINER, 10 MIL THICK	SY	46900.00	\$0.80	\$37,520.00		\$62,846.00	\$0.85	\$39,865.00	\$0.30	\$14,070.00
16	TRAFFIC DIRECTOR, FLAGGER	DOLLAR	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
17	FUEL PRICE ADJUSTMENT	DOLLAR	1.00	\$130,500.00	\$130,500.00		\$130,500.00	\$130,500.00	\$130,500.00		\$130,500.00
18	ASPHALT PRICE ADJUSTMENT	DOLLAR	1.00	\$198,300.00	\$198,300.00		\$198,300.00		\$198,300.00	\$198,300.00	\$198,300.00
19	FINAL CLEANUP	LS	1.00	\$50,000.00	\$50,000.00		\$1.00	\$41,340.00	\$41,340.00	\$5,000.00	\$5,000.00
20	CLEARING SITE	LS	1.00	\$100,000.00	\$100,000.00		\$254,525.00	A a a a	* · - · - · - · - · -	\$750,000.00	\$750,000.00
21	SELECTIVE THINNING	SY	7000.00	\$5.00	\$35,000.00		\$41,720.00	\$2.20	\$15,400.00	\$1.00	\$7,000.00
22	RESET MONITORING WELL	UNIT	4.00	\$500.00	\$2,000.00	. ,	\$7,468.00	\$551.00	\$2,204.00	\$500.00	\$2,000.00
23	MONITORING WELL BOX	UNIT	1.00	\$1,500.00	\$1,500.00		\$726.10	\$551.00	\$551.00	\$250.00	\$250.00
24	EXCAVATION, TEST PIT	CY	100.00	\$100.00	\$10,000.00		\$1,739.00	\$172.00	\$17,200.00	\$100.00	\$10,000.00
25	EXCAVATION, UNCLASSIFIED	CY	125000.00	\$15.00			\$391,250.00	\$2.60	\$325,000.00	\$7.00	\$875,000.00
26 27	EXCAVATION, REGULATED MATERIAL SOIL SAMPLING AND ANALYSIS, REGULATED	CY UNIT	43460.00	\$25.00 \$300.00	\$1,086,500.00		\$126,903.20	\$5.00	\$217,300.00	\$7.00 \$50.00	\$304,220.00 \$5,000.00
27	REMOVAL OF PAVEMENT	TON	100.00 22000.00	\$300.00	\$30,000.00 \$440,000.00		\$77,795.00 \$322,740.00	\$1,323.00 \$14.00	\$132,300.00 \$308,000.00	\$50.00	\$132,000.00
20	DISPOSAL OF REGULATED MATERIAL	TON	1000.00	\$20.00	\$50,000.00		\$71,780.00	\$14.00	\$52,000.00	\$50.00	\$50,000.00
30	NO ITEM	XXXXX	XXXXX	XXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX
31	ORANGE PLASTIC CAUTION GEOTEXTILE	SY	61000.00	\$1.00	\$61,000.00	\$0.67	\$40,870.00	\$0.65	\$39,650.00	\$1.50	\$91,500.00
01	SOIL AGGREGATE BASE COURSE, VARIABLE				401,000.00	φ0.07	φ10,010.00	\$0.00	\$00,000.00	ψ1.00	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>
32	THICKNESS	CY	2000.00	\$40.00	\$80,000.00	\$5.78	\$11,560.00	\$51.00	\$102,000.00	\$25.00	\$50,000.00
33	SOIL AGGREGATE BASE COURSE, RCA	CY	14600.00	\$15.00	\$219,000.00		\$63,218.00	\$4.90	\$71,540.00	\$7.00	\$102,200.00
34	DENSE-GRADED AGGREGATE BASE COURSE	CY	2000.00	\$40.00	\$80,000.00	\$5.78	\$11,560.00	\$46.50	\$93,000.00	\$20.00	\$40,000.00
35	DENSE-GRADED AGGREGATE BASE COURSE, RCA	CY	12500.00	\$15.00	\$187,500.00	\$4.54	\$56,750.00	\$4.60	\$57,500.00	\$7.00	\$87,500.00
36	COARSE AGGREGATE, NO. 57	CY	1000.00	\$40.00	\$40,000.00	\$38.93	\$38,930.00	\$54.50	\$54,500.00	\$25.00	\$25,000.00
37	HOT MIX ASPHALT 12.5 M 76 SURFACE COURSE	TON	9020.00	\$70.00	\$631,400.00	\$78.83	\$711,046.60	\$94.50	\$852,390.00	\$64.00	\$577,280.00
38	HOT MIX ASPHALT 25 M 64 BASE COURSE	TON	19330.00	\$70.00	\$1,353,100.00	\$72.61	\$1,403,551.30	\$77.00		\$55.00	\$1,063,150.00
_1	MODIFIED OPEN-GRADED 12.5 FRICTION COURSE, 4"	SY	2566.00	\$35.00							
39	THK.				\$89,810.00		\$59,787.80	\$42.50	\$109,055.00	\$29.00	\$74,414.00
40	TEXTURED SURFACE TREATMENT PAVEMENT	SY	240.00	\$200.00	\$48,000.00	\$157.66	\$37,838.40	\$79.50	\$19,080.00	\$160.00	\$38,400.00
	POURED-IN-PLACE RUBBER SURFACING (CHALLENGER	SY	2566.00	\$12.00							
41	FIELD)	•••	2000.00	¢.2.00	\$30,792.00	\$44.30	\$113,673.80	\$82.50	\$211,695.00	\$45.00	\$115,470.00
	POURED-IN-PLACE RUBBER SURFACING (PLAYGROUND)	SY	986.00	\$19.00	* • • = • • • •	* ****	***	1 00 5 0	* ••• • • • ••	1 00 00	Aa 4 a a a a
42	(,				\$18,734.00						\$91,698.00
43	12" REINFORCED CONCRETE PIPE	LF	850.00	\$60.00	\$51,000.00		\$29,444.00	\$29.00	\$24,650.00	\$28.00	\$23,800.00
44 45	15" REINFORCED CONCRETE PIPE	LF	1250.00	\$70.00	\$87,500.00		\$38,912.50	\$27.00 \$29.00	\$33,750.00	\$30.00	\$37,500.00
45	18" REINFORCED CONCRETE PIPE 24" REINFORCED CONCRETE PIPE	LF LF	750.00 250.00	\$75.00 \$85.00	\$56,250.00 \$21,250.00		\$23,602.50 \$11,522.50	\$29.00	\$21,750.00 \$11,750.00	\$31.00 \$40.00	\$23,250.00 \$10,000.00
40	36" REINFORCED CONCRETE PIPE	LF	170.00	\$85.00	\$20,400.00		\$11,522.50	\$66.50	\$11,305.00	\$40.00	\$10,200.00
47	42" REINFORCED CONCRETE PIPE	LF	80.00	\$120.00	\$20,400.00		\$8,064.80	\$100.00	\$8,000.00	\$110.00	\$8,800.00
49	8" HIGH DENSITY POLYETHYLENE PIPE	LF	4900.00	\$20.00	\$98,000.00	+	\$87,514.00	\$6.30	\$30,870.00	\$18.00	\$88,200.00
50	10" HIGH DENSITY POLYETHYLENE PIPE	LF	760.00	\$30.00	\$22,800.00		\$14,158.80	\$8.10	\$6,156.00	\$19.00	\$14,440.00
				\$00.00	+,000.00	\$.0.00	÷:,,:00.00	\$0.10	+ 5, 100.00	\$.0.00	÷.,

	SOMERSET COUNTY ENGINEERING - BID TABULATI	ON				BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I					Tomco Construc	tion, Inc.	Montana Constru	uction Corp. Inc.	Kyle Conti Consti	ruction LLC
	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	ΞY				22 Howard Blvd.	. Suite 204	80 Contant Ave.		749 Clawson Ave	
	CONTRACT No. 14018					Mt. Arlington, NJ	07856	Lodi, NJ 07644		Hillsborough, NJ	08844
	BIDS RECEIVED ON 2-12-15			Engineer's Estimat	e	(BID #1)		(BID #2)		(BID #3)	
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
51	12" HIGH DENSITY POLYETHYLENE PIPE	LF	170.00	\$40.00	\$6,800.00	\$22.41	\$3.809.70	\$8.60	\$1,462.00	\$16.00	\$2,720.00
52	15" HIGH DENSITY POLYETHYLENE PIPE	LF	520.00	\$45.00	\$23,400.00		\$12,069.20	\$10.50	\$5,460.00	\$24.00	\$12,480.00
53	18" HIGH DENSITY POLYETHYLENE PIPE	LF	320.00	\$50.00	\$16,000.00	\$29.20	\$9,344.00	\$14.00	\$4,480.00		\$8,320.00
54	24" HIGH DENSITY POLYETHYLENE PIPE	LF	1230.00	\$60.00	\$73,800.00	\$33.60	\$41,328.00	\$20.00	\$24,600.00	\$30.00	\$36,900.00
55	30" HIGH DENSITY POLYETHYLENE PIPE	LF	550.00	\$75.00	\$41,250.00	\$47.70	\$26,235.00	\$28.50	\$15,675.00	\$40.00	\$22,000.00
56	38" X 60" REINFORCED CONCRETE ELLIPTICAL PIPE, CLASS HE - IV	LF	480.00	\$200.00	\$96,000.00	\$225.92	\$108,441.60	\$230.00	\$110,400.00	\$200.00	\$96,000.00
57	16" DUCTILE IRON PIPE, CLASS 52	LF	550.00	\$100.00	\$55,000.00	\$71.78	\$39,479.00	\$42.00	\$23,100.00	\$80.00	\$44,000.00
58	1" X 12" OBLONG PERFORATED HIGH DENSITY POLYETHYLENE PIPE	LF	20050.00	\$12.00	\$240,600.00	\$7.20	\$144,360.00	\$7.80	\$156,390.00	\$15.00	\$300,750.00
59	4" PERFORATED HIGH DENSITY POLYETHYLENE UNDERDRAIN	LF	4500.00	\$20.00	\$90,000.00	\$8.94	\$40,230.00	\$3.20	\$14,400.00	\$18.00	\$81,000.00
60	VIDEO INSPECTION OF PIPE	LF	1300.00	\$5.00	\$6,500.00	\$2.07	\$2,691.00	\$1.30	\$1,690.00	\$3.00	\$3,900.00
61	CLEANING EXISTING PIPE, 12" TO 24" DIAMETER	LF	1300.00	\$10.00	\$13,000.00	\$6.22	\$8,086.00	\$5.50	\$7,150.00	\$3.00	\$3,900.00
62	12" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$400.00	\$400.00	\$914.00	\$914.00	\$2,970.00	\$2,970.00	\$975.00	\$975.00
63	24" REINFORCED CONCRETE END SECTION	UNIT	2.00	\$1,000.00	\$2,000.00	\$1,769.60	\$3,539.20	\$3,519.00	\$7,038.00	\$1,525.00	\$3,050.00
64	30" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$1,250.00	\$1,250.00	\$2,505.80	\$2,505.80	\$3,761.00	\$3,761.00	\$2,025.00	\$2,025.00
65	CONCRETE HEADWALL	CY	230.00	\$550.00	\$126,500.00	\$492.93	\$113,373.90	\$603.00	\$138,690.00	\$770.00	\$177,100.00
66	8" DRAIN INLET	UNIT	5.00	\$350.00	\$1,750.00	\$288.36	\$1,441.80	\$794.00	\$3,970.00	\$885.00	\$4,425.00
67	12" DRAIN INLET	UNIT	32.00	\$500.00	\$16,000.00	\$552.90	\$17,692.80	\$1,034.00	\$33,088.00	\$1,120.00	\$35,840.00
68	15" DRAIN INLET	UNIT	5.00	\$550.00	\$2,750.00	\$741.60	\$3,708.00	\$1,242.00	\$6,210.00	\$1,320.00	\$6,600.00
69	18" DRAIN INLET	UNIT	4.00	\$600.00	\$2,400.00	\$897.20	\$3,588.80	\$1,361.00	\$5,444.00	\$1,435.00	\$5,740.00
70	24" DRAIN INLET	UNIT	12.00	\$650.00	\$7,800.00	\$1,207.40	\$14,488.80	\$1,565.00	\$18,780.00	\$1,635.00	\$19,620.00
71	30" DRAIN INLET	UNIT	5.00	\$800.00	\$4,000.00	\$2,277.84	\$11,389.20	\$2,542.00	\$12,710.00	\$2,900.00	\$14,500.00
72	8" INLINE DRAIN INLET	UNIT	32.00	\$200.00	\$6,400.00	\$121.40	\$3,884.80	\$567.00	\$18,144.00	\$490.00	\$15,680.00
73	INLET, TYPE E	UNIT	20.00	\$2,500.00	\$50,000.00	\$2,062.09	\$41,241.80	\$1,985.00	\$39,700.00	\$2,300.00	\$46,000.00
74	RECONSTRUCTED INLET, TYPE E, USING NEW CASTING	UNIT	1.00	\$2,000.00	\$2,000.00	\$1,389.90	\$1,389.90	\$1,263.00	\$1,263.00	\$2,155.00	\$2,155.00
75	MANHOLE, 4' DIAMETER	UNIT	11.00	\$4,000.00	\$44,000.00	\$1,669.00	\$18,359.00	\$1,829.00	\$20,119.00		\$26,400.00
76	RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")	SY	650.00	\$65.00	\$42,250.00	\$33.60	\$21,840.00	\$26.50	\$17,225.00	\$42.00	\$27,300.00
77	RIPRAP STONE CHANNEL PROTECTION, 16" THICK (D50=8")	SY	110.00	\$90.00	\$9,900.00	\$30.23	\$3,325.30	\$36.00	\$3,960.00	\$58.00	\$6,380.00
78	RIPRAP STONE CHANNEL PROTECTION, 30" THICK (D50=15")	SY	180.00	\$100.00	\$18,000.00	\$99.62	\$17,931.60	\$95.00	\$17,100.00	\$88.00	\$15,840.00
79	RIPRAP STONE CHANNEL PROTECTION, 36" THICK (D50=18")	SY	320.00	\$130.00	\$41,600.00	\$129.28	\$41,369.60	\$114.00	\$36,480.00	\$96.00	\$30,720.00
80	CHAIN-LINK FENCE, ALUMINUM-COATED STEEL, 6' HIGH	LF	10620.00	\$30.00	\$318,600.00	\$20.23	\$214,842.60	\$17.00	\$180,540.00		\$212,400.00
81	CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH	LF	6165.00	\$45.00	\$277,425.00	\$29.04	\$179,031.60	\$25.50	\$157,207.50	\$36.00	\$221,940.00
82	CHAIN-LINK FENCE, PVC-COATED STEEL, 8' HIGH	LF	504.00	\$50.00	\$25,200.00	\$36.30	\$18,295.20	\$61.00	\$30,744.00	\$59.00	\$29,736.00
83	CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH	LF	800.00	\$60.00	\$48,000.00	\$41.49	\$33,192.00	\$59.50	\$47,600.00	\$75.00	\$60,000.00
84	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 4' WIDE	UNIT	2.00	\$300.00	\$600.00	\$311.00	\$622.00	\$639.00	\$1,278.00	\$520.00	\$1,040.00
85	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 10' WIDE	UNIT	1.00	\$1,000.00	\$1,000.00	\$778.00	\$778.00	\$1,025.00	\$1,025.00	\$1,000.00	\$1,000.00
86	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 12' WIDE	UNIT	6.00	\$1,300.00	\$7,800.00	\$933.50	\$5,601.00	\$1,230.00	\$7,380.00	\$1,050.00	\$6,300.00
87	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 15' WIDE	UNIT	1.00	\$1,400.00	\$1,400.00		\$1,166.90	\$1,538.00	\$1,538.00		\$1,200.00
88	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 24' WIDE	UNIT	3.00	\$2,500.00	\$7,500.00	\$1,296.60	\$3,889.80	\$2,302.00	\$6,906.00	\$2,000.00	\$6,000.00
89	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH x 3'-8" WIDE	UNIT	12.00	\$350.00	\$4,200.00	\$311.20	\$3,734.40	\$450.00	\$5,400.00	\$590.00	\$7,080.00
	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH X 3'-8"	UNIT	14.00	\$400.00							• • •
90	WIDE				\$5,600.00	\$518.60	\$7,260.40	\$750.00	\$10,500.00	\$950.00	\$13,300.00
91	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH X 6' WIDE	UNIT	2.00	\$500.00	\$1,000.00	\$466.80	\$933.60	\$675.00	\$1,350.00	\$800.00	\$1,600.00
92	STEEL FENCE, 4' HIGH	LF	128.00	\$70.00	\$8,960.00	\$62.20	\$7,961.60	\$88.00	\$11,264.00	\$80.00	\$10,240.00
93	CONCRETE SIDEWALK, 5" THICK	SY	3367.00	\$50.00	\$168,350.00	\$58.10	\$195,622.70	\$59.50	\$200,336.50		\$208,754.00
94	DETECTABLE WARNING SURFACE	SY	70.00	\$100.00	\$7,000.00	\$158.70	\$11,109.00	\$292.00	\$20,440.00	\$370.00	\$25,900.00

	SOMERSET COUNTY ENGINEERING - BID TABULAT					BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I					Tomco Construc	tion Inc		uction Corp. Inc.	Kyle Conti Const	ruction LLC
	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	-V				22 Howard Blvd.		80 Contant Ave.	uction corp. inc.	749 Clawson Ave	
	CONTRACT No. 14018	_ 1				Mt. Arlington, NJ		Lodi, NJ 07644		Hillsborough, NJ	
	BIDS RECEIVED ON 2-12-15			Engineer's Estima	ato	(BID #1)	10/030	(BID #2)		(BID #3)	00044
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
95	12" X 13" CONCRETE SLOPING CURB	LF	250.00	\$65.00	\$16.250.00		\$3,890.00	\$18.50	\$4,625.00	\$17.00	\$4,250.00
96	6" X 18" CONCRETE VERTICAL CURB	LF	10780.00	\$20.00	\$215,600.00		\$142,619.40	\$18.50	\$199,430.00	\$16.00	\$172,480.00
97	CONCRETE WHEEL STOP	UNIT	18.00	\$200.00	\$3,600.00		\$1,400.40	\$82.50	\$1,485.00	\$135.00	\$2,430.00
98	TRAFFIC STRIPES, THERMOPLASTIC, 4"	LF	30300.00	\$2.00	\$60,600.00		\$18,786.00	\$0.65	\$19,695.00	\$0.60	\$18,180.00
99	TRAFFIC MARKINGS, THERMOPLASTIC	SF	1850.00	\$8.00	\$14,800.00		\$10,545.00	\$6.10	\$11,285.00	\$2.00	\$3,700.00
100	REGULATORY AND WARNING SIGN	SF	1000.00	\$20.00	\$2,000.00		\$4,149.00	\$44.00	\$4,400.00	\$35.00	\$3,500.00
101	6" DUCTILE IRON WATER PIPE, CLASS 52	LF	70.00	\$70.00	\$4,900.00		\$6,258.00	\$42.00	\$2,940.00	\$53.00	\$3,710.00
102	8" DUCTILE IRON WATER PIPE, CLASS 52	LF	3700.00	\$75.00	\$277,500.00		\$185,000.00	\$42.00	\$155,400.00	\$55.00	\$203,500.00
103	2" HDPE WATER PIPE	LF	250.00	\$25.00	\$6,250.00		\$4,240.00	\$22.00	\$5,500.00	\$32.00	\$8,000.00
104	6" WATER METER AND VAULT	LS	1.00	\$10,000.00	\$10,000.00		\$20,622.90	\$64,383.00	\$64,383.00	\$65,000.00	\$65,000.00
105	6" BACKFLOW PREVENTER AND ENCLOSURE	LS	1.00	\$9,000.00	\$9,000.00		\$43,046.60	\$46,277.00	\$46,277.00	\$32,000.00	\$32,000.00
106	FIRE HYDRANT	UNIT	3.00	\$5,000.00	\$15,000.00		\$10,509.60	\$5,180.00	\$15,540.00	\$6,000.00	\$18,000.00
107	YARD HYDRANT	UNIT	1.00	\$1,000.00	\$1,000.00		\$1,664.80	\$992.00	\$992.00	\$1,850.00	\$1,850.00
108	8" POLYVINYL CHLORIDE SEWER PIPE	LF	2820.00	\$45.00	\$126,900.00		\$126,900.00	\$15.50	\$43,710.00	\$50.00	\$141,000.00
109	SANITARY SEWER CLEANOUT	UNIT	5.00	\$250.00	\$1,250.00		\$1,815.20	\$71.50	\$357.50	\$500.00	\$2,500.00
110	MANHOLE, SANITARY SEWER	UNIT	18.00	\$4,000.00	\$72,000.00		\$41,076.00	\$2,611.00	\$46,998.00	\$3,200.00	\$57,600.00
	RECONSTRUCTED MANHOLE, SANITARY SEWER, USING EXISTING			. ,			+ /			+ - /	
111	CASTING	UNIT	1.00	\$2,500.00	\$2,500.00	\$518.60	\$518.60	\$4,065.00	\$4,065.00	\$2,800.00	\$2,800.00
112	SANITARY SEWER PUMP STATION	LS	1.00	\$125,000.00	\$125,000.00		\$148,176.90	\$187,231.00	\$187,231.00	\$195,000.00	\$195,000.00
113	4" PVC SANITARY SEWER FORCE MAIN	LF	3150.00	\$35.00	\$110,250.00		\$51,156.00	\$9.00	\$28,350.00	\$25.00	\$78,750.00
114	REINFORCED CONCRETE BLEACHER PAD	SF	2800.00	\$6.50	\$18,200.00		\$22,736.00	\$11.00	\$30,800.00	\$12.00	\$33,600.00
115	REINFORCED CONCRETE GENERATOR PAD	SF	100.00	\$10.00	\$1,000.00		\$2,683.00	\$51.50	\$5,150.00	\$72.00	\$7,200.00
116	REINFORCED CONCRETE DUGOUT PAD	SF	3542.00	\$6.50	\$23,023.00		\$32,409.30	\$14.00	\$49,588.00	\$16.00	\$56,672.00
117	LUMINAIRE, TYPE A	UNIT	26.00	\$3,800.00	\$98,800.00		\$161,813.60	\$8,224.00	\$213,824.00	\$7,800.00	\$202,800.00
118	LUMINAIRE, TYPE B	UNIT	37.00	\$2,700.00	\$99,900.00		\$191,893.10	\$5,843.00	\$216,191.00	\$5,000.00	\$185,000.00
119	LUMINAIRE, TYPE C	UNIT	2.00	\$2,700.00	\$5,400.00		\$10,372.60	\$5,843.00	\$11,686.00		\$12,700.00
120	LUMINAIRE, TYPE J	UNIT	11.00	\$2,700.00	\$29,700.00	\$5,186.30	\$57,049.30	\$6,174.00	\$67,914.00	\$5,675.00	\$62,425.00
121	LUMINAIRE, TYPE K	UNIT	12.00	\$3,300.00	\$39,600.00	\$6,223.60	\$74,683.20	\$6,174.00	\$74,088.00	\$5,970.00	\$71,640.00
122	BALLFIELD LIGHTING	LS	1.00	\$1,800,000.00	\$1,800,000.00	\$990,589.70	\$990,589.70	\$1,061,124.00	\$1,061,124.00	\$860,000.00	\$860,000.00
123	SITE ELECTRICAL WORK	LS	1.00	\$500,000.00	\$500,000.00	\$1,607,763.40	\$1,607,763.40	\$1,485,023.00	\$1,485,023.00	\$1,100,000.00	\$1,100,000.00
124	BORROW TOPSOIL	CY	41600.00	\$25.00	\$1,040,000.00	\$35.27	\$1,467,232.00	\$44.00	\$1,830,400.00	\$28.00	\$1,164,800.00
125	BORROW TOPSOIL, BALLFIELDS	CY	5300.00	\$40.00	\$212,000.00	\$51.26	\$271,678.00	\$48.50	\$257,050.00	\$40.00	\$212,000.00
126	TOPSOIL STABILIZATION, TYPE 3 MAT	SY	14400.00	\$5.00	\$72,000.00	\$2.47	\$35,568.00	\$5.10	\$73,440.00	\$5.00	\$72,000.00
127	TOPSOIL STABILIZATION, TYPE 4 MAT	SY	46900.00	\$2.00	\$93,800.00	\$0.86	\$40,334.00	\$3.10	\$145,390.00	\$0.50	\$23,450.00
128	BALLFIELD INFIELD MIX	TON	2310.00	\$75.00	\$173,250.00	\$105.95	\$244,744.50	\$48.50	\$112,035.00	\$45.00	\$103,950.00
129	SMALL DECIDUOUS TREE, 7-8' HIGH, B&B	UNIT	56.00	\$325.00	\$18,200.00	\$235.80	\$13,204.80	\$259.00	\$14,504.00	\$270.00	\$15,120.00
130	SMALL DECIDUOUS TREE, 6-7' HIGH, B&B	UNIT	7.00	\$300.00	\$2,100.00		\$943.60	\$204.00	\$1,428.00	\$240.00	\$1,680.00
131	SMALL DECIDUOUS TREE, 5-6' HIGH, B&B	UNIT	41.00	\$250.00	\$10,250.00		\$4,842.10	\$165.00	\$6,765.00	\$220.00	\$9,020.00
132	EVERGREEN TREE, 7-8' HIGH, B&B	UNIT	92.00	\$300.00	\$27,600.00	+	\$16,638.20	\$259.00	\$23,828.00	\$250.00	\$23,000.00
133	DECIDUOUS SHRUB, 4-5' HIGH, B&B	UNIT	23.00	\$50.00	\$1,150.00		\$2,290.80	\$77.00	\$1,771.00	\$160.00	\$3,680.00
134	DECIDUOUS SHRUB, 18-24" HIGH, #3 CONTAINER	UNIT	205.00	\$40.00	\$8,200.00		\$4,633.00	\$53.00	\$10,865.00	\$55.00	\$11,275.00
135	PERENNIAL, #1 CONTAINER	UNIT	1875.00	\$15.00	\$28,125.00		\$18,075.00	\$15.50	\$29,062.50	\$25.00	\$46,875.00
136	FERTILIZING AND SEEDING, BALLFIELD GRASS MIXTURE	SY	30900.00	\$1.50	\$46,350.00		\$34,608.00	\$0.90	\$27,810.00	\$0.50	\$15,450.00
137	FERTILIZING AND SEEDING, NORTHEAST U.S. ROADSIDE MIXTURE	SY	213600.00	\$0.50	\$106,800.00		\$239,232.00	\$0.85	\$181,560.00	\$0.50	\$106,800.00
138	FERTILIZING AND SEEDING, UPLAND MEADOW MIXTURE	SY	1370.00	\$0.50	\$685.00		\$1,534.40	\$1.10	\$1,507.00	\$1.00	\$1,370.00
139	FERTILIZING AND SEEDING, TYPE A-4	SY	168710.00	\$0.50	\$84,355.00			\$0.70			\$67,484.00
140	FERTILIZING AND SEEDING, TYPE B	SY	4180.00	\$0.50	\$2,090.00		\$4,681.60	\$0.85	\$3,553.00	\$0.40	\$1,672.00
141	MOWING	SY	172891.00	\$0.10	\$17,289.10		\$69,156.40	\$0.55	\$95,090.05	\$0.30	\$51,867.30
142	MOWING BALLFIELDS	SY	30900.00	\$0.25	\$7,725.00		\$16,995.00	\$0.35	\$10,815.00	\$0.30	\$9,270.00
143	IRRIGATION SYSTEM	LS	1.00	\$156,000.00	\$156,000.00		\$273,838.41	\$285,539.00	\$285,539.00		\$220,000.00
144	STONE SEATWALL	LF	122.00	\$600.00	\$73,200.00		\$50,203.00	\$646.00	\$78,812.00	\$750.00	\$91,500.00
145	BATTING TUNNEL	LS	1.00	\$20,000.00	\$20,000.00		\$18,665.60	\$53,005.00	\$53,005.00	\$41,000.00	\$41,000.00
146	PLAYGROUND EQUIPMENT	LS	1.00	\$100,000.00	\$100,000.00		\$112,027.90	\$105,969.00	\$105,969.00		\$105,000.00
147	DUGOUT STRUCTURE	UNIT	14.00	\$18,000.00	\$252,000.00		\$145,217.80	\$11,448.00	\$160,272.00	\$9,600.00	\$134,400.00
148	STORAGE BUILDING, 14' BY 24'	UNIT	2.00	\$9,500.00	\$19,000.00		\$18,730.80	\$30,874.00	\$61,748.00		\$18,800.00
149	OCTAGONAL PAVILION	UNIT	2.00	\$40,000.00	\$80,000.00	\$49,270.20	\$98,540.40	\$72,549.00	\$145,098.00	\$53,000.00	\$106,000.00

9	SOMERSET COUNTY ENGINEERING - BID TABULAT	ON				BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
-	MOUNTAIN VIEW PARK, PHASE I					Tomco Construc	tion. Inc.	Montana Constru	uction Corp. Inc.	Kyle Conti Constr	ruction LLC
1	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSI	ΞY				22 Howard Blvd.		80 Contant Ave.		749 Clawson Ave	
	CONTRACT No. 14018					Mt. Arlington, NJ		Lodi, NJ 07644		Hillsborough, NJ	
	BIDS RECEIVED ON 2-12-15			Engineer's Estima	te	(BID #1)		(BID #2)		(BID #3)	
[DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
150	CONCRETE BLOCK STORAGE BIN	LS	1.00	\$15,000.00	\$15,000.00	\$12,204.50	\$12,204.50	\$10,736.00	\$10,736.00	\$12,300.00	\$12,300.00
151	BLEACHER	UNIT	14.00	\$9,500.00	\$133,000.00	\$8,151.00	\$114,114.00	\$6,311.00	\$88,354.00	\$6,500.00	\$91,000.00
152	PARK BENCH	UNIT	10.00	\$1,200.00	\$12,000.00	\$959.47	\$9,594.70	\$1,475.00	\$14,750.00	\$2,000.00	\$20,000.00
153	21' PLAYER BENCH	UNIT	12.00	\$1,500.00	\$18,000.00	\$884.80	\$10,617.60	\$1,348.00	\$16,176.00	\$2,800.00	\$33,600.00
154	6' PLAYER BENCH	UNIT	2.00	\$1,200.00	\$2,400.00	\$405.60	\$811.20	\$1,350.00	\$2,700.00	\$2,500.00	\$5,000.00
155	COLLAPSIBLE BOLLARD	UNIT	4.00	\$2,000.00	\$8,000.00	\$1,400.30	\$5,601.20	\$1,488.00	\$5,952.00	\$1,500.00	\$6,000.00
156	BARRIER NETTING	LF	400.00	\$100.00	\$40,000.00	\$101.65	\$40,660.00	\$87.50	\$35,000.00	\$100.00	\$40,000.00
157	FENCE TOP RAIL GUARD	LF	2733.00	\$5.00	\$13,665.00	\$2.30	\$6,285.90	\$6.60	\$18,037.80	\$5.00	\$13,665.00
158	FOUL LINE POLE	UNIT	14.00	\$3,000.00	\$42,000.00	\$1,037.30	\$14,522.20	\$2,958.00	\$41,412.00	\$1,100.00	\$15,400.00
159	BACKSTOP	UNIT	7.00	\$25,000.00	\$175,000.00	\$12,447.20	\$87,130.40	\$18,483.00	\$129,381.00	\$23,000.00	\$161,000.00
160	PITCHER'S PLATE	UNIT	18.00	\$250.00	\$4,500.00	\$334.00	\$6,012.00	\$354.00	\$6,372.00	\$290.00	\$5,220.00
161	HOME PLATE	UNIT	18.00	\$250.00	\$4,500.00	\$330.90	\$5,956.20	\$431.00	\$7,758.00	\$370.00	\$6,660.00
162	BASES	UNIT	18.00	\$300.00	\$5,400.00	\$581.45	\$10,466.10	\$392.00	\$7,056.00	\$315.00	\$5,670.00
163	PITCHER'S MOUND	UNIT	6.00	\$750.00	\$4,500.00	\$551.10	\$3,306.60	\$1,626.00	\$9,756.00	\$1,600.00	\$9,600.00
164	BATTER BOX	UNIT	6.00	\$750.00	\$4,500.00	\$852.30	\$5,113.80	\$2,210.00	\$13,260.00	\$2,100.00	\$12,600.00
165	FLAGPOLE	UNIT	1.00	\$10,000.00	\$10,000.00	\$16,361.80	\$16,361.80	\$9,072.00	\$9,072.00	\$16,000.00	\$16,000.00
166	SCOREBOARD	UNIT	7.00	\$5,000.00	\$35,000.00	\$13,199.30	\$92,395.10	\$9,316.00	\$65,212.00	\$4,500.00	\$31,500.00
167	CONCESSION BUILDING	LS	1.00	\$450,000.00	\$450,000.00	\$914,433.60	\$914,433.60	\$785,569.15	\$785,569.15	\$940,000.00	\$940,000.00
168	MAINTENANCE BUILDING	LS	1.00	\$500,000.00	\$500,000.00	\$700,569.90	\$700,569.90	\$450,000.00	\$450,000.00	\$680,000.00	\$680,000.00
169	CONTRACTOR ALLOWANCE FOR BUILDINGS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
170	CONTRACTOR ALLOWANCE FOR UTILITIES	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
171	CONTRACTOR ALLOWANCE FOR HAZARDOUS MATERIALS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
				ENG'S EST. =	\$18,366,073.10	BID TOTAL =	\$16,745,678.61	BID TOTAL =	\$17,250,000.00*	BID TOTAL =	\$17,497,794.00

* Total as bid

	SOMERSET COUNTY ENGINEERING - BID TABULAT	ION		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I			Petillo Inc.		KC Construction	Company	Carbro Construc	tors Corp.	VA Spatz and S	ons Construction I
	LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSI	ΞY		167 Flanders Ne	tcona Rd.	1737 Stout Drive		605 Omni Dr.		91 Lone Pine Di	
	CONTRACT No. 14018			Flanders, NJ 078		Ivyland, PA 189		Hillsborough, NJ	08844	Berkeley Height	
	BIDS RECEIVED ON 2-12-15			(BID #4)		(BID #5)		(BID #6)		(BID #7)	.,
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
1	PERFORMANCE BOND AND PAYMENT BOND	DOLLAR	1.00	\$175.000.00	\$175,000.00	\$380.000.00	\$380,000.00		\$150,000.00	\$129,615.00	\$129,615.00
2	PROGRESS SCHEDULE	LS	1.00	\$16,000.00	\$16,000.00	\$17,000.00	\$17,000.00		\$50,000.00	\$53,560.00	\$53,560.00
3	MOBILIZATION	LS	1.00	\$725,000.00	\$725,000.00	\$230,000.00		\$1,760,000.00	\$1,760,000.00	\$146,647.00	\$146,647.00
4	FIELD OFFICE TYPE C SET UP	UNIT	1.00	\$26,500.00	\$26,500.00	\$41,000.00	\$41,000.00		\$100,000.00	\$69,628.00	\$69,628.00
5	FIELD OFFICE TYPE C MAINTENANCE	MO	27.00	\$1,800.00	\$48,600.00	\$1,700.00	\$45,900.00		\$13,500.00	\$1,285.00	\$34,695.00
6	INCENTIVE/DISINCENTIVE	LS	1.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00		\$200,000.00	\$200,000.00	\$200,000.00
7	CONSTRUCTION LAYOUT	DOLLAR	1.00	\$115,000.00	\$115,000.00	\$110,000.00	\$110,000.00	\$240,000.00	\$240,000.00	\$214,240.00	\$214,240.00
8	INLET FILTER TYPE 2, 4' X 4'	UNIT	117.00	\$135.00	\$15,795.00	\$110.00	\$12,870.00	\$100.00	\$11,700.00	\$381.00	\$44,577.00
9	CONCRETE WASHOUT SYSTEM	LS	1.00	\$2,400.00	\$2,400.00	\$551.00	\$551.00	\$407.00	\$407.00	\$26,780.00	\$26,780.00
10	BIORETENTION SYSTEM	SY	3000.00	\$65.00	\$195,000.00	\$83.00	\$249,000.00		\$150,000.00	\$57.77	\$173,310.00
11	HEAVY DUTY SILT FENCE, BLACK	LF	16600.00	\$4.50	\$74,700.00	\$5.00	\$83,000.00	\$8.00	\$132,800.00	\$4.55	\$75,530.00
12	HAYBALE	UNIT	250.00	\$45.00	\$11,250.00	\$29.00	\$7,250.00	\$8.00	\$2,000.00	\$27.00	\$6,750.00
13	CONSTRUCTION DRIVEWAY	TON	190.00	\$18.00	\$3,420.00	\$29.00	\$5,510.00	\$40.00	\$7,600.00	\$54.50	\$10,355.00
14	OIL ONLY EMERGENCY SPILL KIT, TYPE 1	UNIT	1.00	\$900.00	\$900.00	\$1,700.00			\$1,200.00	\$2,678.00	\$2,678.00
15	IMPERMEABLE LINER, 10 MIL THICK	SY	46900.00	\$2.15	\$100,835.00	\$2.15	\$100,835.00	\$1.00	\$46,900.00	\$1.61	\$75,509.00
16	TRAFFIC DIRECTOR, FLAGGER	DOLLAR	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		\$10,000.00	\$10,000.00	\$10,000.00
17	FUEL PRICE ADJUSTMENT	DOLLAR	1.00	\$130,500.00	\$130,500.00	\$130,500.00	\$130,500.00		\$130,500.00		\$130,500.00
18	ASPHALT PRICE ADJUSTMENT	DOLLAR	1.00	\$198,300.00	\$198,300.00	\$198,300.00	\$198,300.00		\$198,300.00		\$198,300.00
19	FINAL CLEANUP	LS	1.00	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00		\$10,000.00	\$32,243.00	\$32,243.00
20	CLEARING SITE	LS	1.00	\$325,887.90	\$325,887.90	\$150,000.00	\$150,000.00		\$200,000.00	\$419,208.00	\$419,208.00
21	SELECTIVE THINNING	SY	7000.00	\$4.50	\$31,500.00	\$3.00	\$21,000.00	\$3.50	\$24,500.00	\$5.36	\$37,520.00
22	RESET MONITORING WELL	UNIT	4.00	\$600.00	\$2,400.00	\$800.00	\$3,200.00	\$1,250.00	\$5,000.00	\$4,285.00	\$17,140.00
23	MONITORING WELL BOX	UNIT	1.00	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00	\$850.00	\$850.00	\$8,034.00	\$8,034.00
24	EXCAVATION, TEST PIT	CY	100.00	\$100.00	\$10,000.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00	\$64.50	\$6,450.00
25	EXCAVATION, UNCLASSIFIED	CY	125000.00	\$5.25	\$656,250.00	\$6.00	\$750,000.00	\$8.00	., ,	\$8.40	. , ,
26 27	EXCAVATION, REGULATED MATERIAL SOIL SAMPLING AND ANALYSIS, REGULATED	CY UNIT	43460.00 100.00	\$7.50 \$500.00	\$325,950.00 \$50.000.00	\$5.00 \$600.00	\$217,300.00 \$60,000.00	\$9.00 \$800.00	\$391,140.00 \$80,000.00	\$12.15 \$1,285.00	\$528,039.00 \$128,500.00
27	REMOVAL OF PAVEMENT	TON	22000.00	\$300.00	\$396,000.00	\$800.00	\$660,000.00	\$10.00	\$220,000.00	\$25.25	\$555,500.00
20	DISPOSAL OF REGULATED MATERIAL	TON	1000.00	\$18.00	\$30,000.00	\$56.00	\$56,000.00	\$10.00	\$34,000.00	\$48.20	\$48,200.00
30	NO ITEM	XXXXX	XXXXX	XXXXXXXX	XXXXXXXXXXXX	XXXXXXXXX	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	XXXXXXXXX	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	XXXXXXXXX	XXXXXXXXXXX
31	ORANGE PLASTIC CAUTION GEOTEXTILE	SY	61000.00	\$2.75	\$167,750.00	\$0.55	\$33,550.00	\$1.00	\$61,000.00	\$0.64	\$39,040.00
- 01	SOIL AGGREGATE BASE COURSE, VARIABLE			ψ2.10	φ107,700.00	ψ0.00	\$00,000.00	φ1.00	ψ01,000.00	φ0.04	φ00,040.00
32	THICKNESS	CY	2000.00	\$10.00	\$20,000.00	\$45.00	\$90,000.00	\$26.00	\$52,000.00	\$34.84	\$69,680.00
33	SOIL AGGREGATE BASE COURSE, RCA	CY	14600.00	\$9.00	\$131,400.00	\$4.75	\$69,350.00	\$10.00	\$146,000.00	\$8.06	\$117,676.00
34	DENSE-GRADED AGGREGATE BASE COURSE	CY	2000.00	\$9.00	\$18,000.00	\$49.00	\$98,000.00	\$24.00	\$48,000.00	\$34.84	\$69,680.00
35	DENSE-GRADED AGGREGATE BASE COURSE, RCA	CY	12500.00	\$9.00	\$112,500.00	\$12.10	\$151,250.00	\$10.00	\$125,000.00	\$8.06	\$100,750.00
36	COARSE AGGREGATE, NO. 57	CY	1000.00	\$45.00	\$45,000.00	\$34.00	\$34,000.00	\$30.00	\$30,000.00	\$48.26	\$48,260.00
37	HOT MIX ASPHALT 12.5 M 76 SURFACE COURSE	TON	9020.00	\$85.00	\$766,700.00	\$95.00	\$856,900.00	\$85.00	\$766,700.00	\$81.40	\$734,228.00
38	HOT MIX ASPHALT 25 M 64 BASE COURSE	TON	19330.00	\$83.00	\$1,604,390.00	\$85.00	\$1,643,050.00	\$69.00	\$1,333,770.00	\$73.90	\$1,428,487.00
	MODIFIED OPEN-GRADED 12.5 FRICTION COURSE, 4"	SY									
39	THK.	δĭ	2566.00	\$32.00	\$82,112.00	\$30.00	\$76,980.00	\$38.00	\$97,508.00	\$35.00	\$89,810.00
40	TEXTURED SURFACE TREATMENT PAVEMENT	SY	240.00	\$72.00	\$17,280.00	\$80.00	\$19,200.00	\$75.00	\$18,000.00	\$171.40	\$41,136.00
	POURED-IN-PLACE RUBBER SURFACING (CHALLENGER	SY	2566.00								
41	FIELD)	51	2000.00	\$54.00	\$138,564.00	\$47.00	\$120,602.00	\$54.00	\$138,564.00	\$49.00	\$125,734.00
	POURED-IN-PLACE RUBBER SURFACING (PLAYGROUND)	SY	986.00								
42				\$119.25					\$100,572.00		
43	12" REINFORCED CONCRETE PIPE	LF	850.00	\$36.00	\$30,600.00	\$30.00	\$25,500.00	\$70.00	\$59,500.00	\$39.50	
44	15" REINFORCED CONCRETE PIPE	LF	1250.00	\$34.00	\$42,500.00	\$27.00	\$33,750.00	\$71.00	\$88,750.00	\$38.06	\$47,575.00
45	18" REINFORCED CONCRETE PIPE	LF	750.00	\$38.00	\$28,500.00	\$30.00	\$22,500.00	\$74.00	\$55,500.00	\$40.44	\$30,330.00
46	24" REINFORCED CONCRETE PIPE	LF	250.00	\$65.00	\$16,250.00	\$37.00	\$9,250.00	\$80.00	\$20,000.00	\$47.34	\$11,835.00
47	36" REINFORCED CONCRETE PIPE	LF	170.00	\$98.00	\$16,660.00	\$75.00		\$100.00	\$17,000.00	\$74.00	\$12,580.00
48	42" REINFORCED CONCRETE PIPE	LF	80.00	\$125.00	\$10,000.00	\$88.00	\$7,040.00		\$8,800.00	\$90.00	\$7,200.00
49 50	8" HIGH DENSITY POLYETHYLENE PIPE		4900.00	\$16.00 \$20.00	\$78,400.00 \$15,200.00	\$21.00	. ,	\$40.00 \$42.00	\$196,000.00	\$29.80	\$146,020.00
50	10" HIGH DENSITY POLYETHYLENE PIPE	LF	760.00	¢∠0.00	φ10,200.00	\$23.00	\$17,480.00	\$4∠.00	\$31,920.00	\$31.50	\$23,940.00

	SOMERSET COUNTY ENGINEERING - BID TABULATI	ON		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I			Petillo Inc.		KC Construction	Company	Carbro Construct	tors Corp.	VA Spatz and Sc	ons Construction
1	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	Ϋ́		167 Flanders Ne	tcona Rd.	1737 Stout Drive		605 Omni Dr.		91 Lone Pine Dr.	
-	CONTRACT No. 14018			Flanders, NJ 078		Ivyland, PA 1897		Hillsborough, NJ	08844	Berkeley Heights	
	BIDS RECEIVED ON 2-12-15			(BID #4)		(BID #5)		(BID #6)		(BID #7)	,
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT						
51	12" HIGH DENSITY POLYETHYLENE PIPE	LF	170.00	\$28.00	\$4,760.00	\$28.00	\$4,760.00	\$44.00	\$7,480.00	\$32.60	\$5,542.00
52	15" HIGH DENSITY POLYETHYLENE PIPE	LF	520.00	\$30.00	\$15,600.00	\$26.00	\$13,520.00	\$46.00	\$23,920.00	\$34.90	\$18,148.00
53	18" HIGH DENSITY POLYETHYLENE PIPE	LF	320.00	\$32.00	\$10,240.00	\$32.00	\$10,240.00	\$48.00	\$15,360.00	\$38.30	\$12,256.00
54	24" HIGH DENSITY POLYETHYLENE PIPE	LF	1230.00	\$45.00	\$55,350.00	\$39.00	\$47,970.00	\$50.00	\$61,500.00	\$46.20	\$56,826.00
55	30" HIGH DENSITY POLYETHYLENE PIPE	LF	550.00	\$60.00	\$33,000.00	\$49.00	\$26,950.00	\$52.00	\$28,600.00	\$55.20	\$30,360.00
56	38" X 60" REINFORCED CONCRETE ELLIPTICAL PIPE, CLASS HE - IV	LF	480.00	\$310.00	\$148,800.00	\$225.00	\$108,000.00	\$215.00	\$103,200.00	\$244.80	\$117,504.00
57	16" DUCTILE IRON PIPE, CLASS 52	LF	550.00	\$86.00	\$47,300.00	\$77.00	\$42,350.00	\$140.00	\$77,000.00	\$104.00	\$57,200.00
58	1" X 12" OBLONG PERFORATED HIGH DENSITY POLYETHYLENE PIPE	LF	20050.00	\$11.50	\$230,575.00	\$11.00	\$220,550.00	\$11.00	\$220,550.00	\$9.34	\$187,267.00
59	4" PERFORATED HIGH DENSITY POLYETHYLENE UNDERDRAIN	LF	4500.00	\$16.00	\$72,000.00	\$13.00	\$58,500.00	\$15.00	\$67,500.00	\$8.90	\$40,050.00
60	VIDEO INSPECTION OF PIPE	LF	1300.00	\$4.00	\$5.200.00	\$1.55	\$2.015.00	\$3.50	\$4,550.00	\$4.30	\$5,590.00
61	CLEANING EXISTING PIPE, 12" TO 24" DIAMETER	LF	1300.00	\$4.75	\$6,175.00	\$5.60	\$7,280.00	\$10.00	\$13,000.00	\$8.60	\$11,180.00
62	12" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$1,300.00	\$1,300.00	\$2,090.00	\$2,090.00	\$700.00	\$700.00	\$2,144.00	\$2,144.00
63	24" REINFORCED CONCRETE END SECTION	UNIT	2.00	\$1,900.00	\$3,800.00	\$2,860.00	\$5,720.00	\$750.00	\$1,500.00	\$2,680.00	\$5,360.00
64	30" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$2,500.00	\$2,500.00	\$3,210.00	\$3,210.00	\$1,750.00	\$1,750.00	\$3,000.00	\$3,000.00
65	CONCRETE HEADWALL	CY	230.00	\$650.00	\$149,500.00	\$895.00	\$205,850.00	\$600.00	\$138,000.00	\$612.20	\$140,806.00
66	8" DRAIN INLET	UNIT	5.00	\$750.00	\$3,750.00	\$1,040.00	\$5,200.00	\$700.00	\$3,500.00	\$975.00	\$4,875.00
67	12" DRAIN INLET	UNIT	32.00	\$1,200.00	\$38,400.00	\$1,275.00	\$40,800.00	\$900.00	\$28,800.00	\$1.286.00	\$41,152.00
68	15" DRAIN INLET	UNIT	5.00	\$1,550.00	\$7,750.00	\$1,528.00	\$7,640.00	\$1,100.00	\$5,500.00	\$1,532.00	\$7,660.00
69	18" DRAIN INLET	UNIT	4.00	\$1,880.00	\$7,520.00	\$1,666.00	\$6,664.00	\$1,150.00	\$4,600.00	\$1,671.00	\$6,684.00
70	24" DRAIN INLET	UNIT	12.00	\$2,150.00	\$25.800.00	\$1,865.00	\$22,380.00	\$1,300.00	\$15.600.00	\$2,020.00	\$24,240.00
71	30" DRAIN INLET	UNIT	5.00	\$3,250.00	\$16,250.00	\$2,920.00	\$14,600.00	\$1,900.00	\$9,500.00	\$3,171.00	\$15,855.00
72	8" INLINE DRAIN INLET	UNIT	32.00	\$425.00	\$13,600.00	\$883.00	\$28,256.00	\$600.00	\$19,200.00	\$665.00	\$21,280.00
73	INLET, TYPE E	UNIT	20.00	\$2,650.00	\$53.000.00	\$3,025.00	\$60,500.00	\$2,500.00	\$50.000.00	\$2,186.00	\$43,720.00
74	RECONSTRUCTED INLET, TYPE E, USING NEW CASTING	UNIT	1.00	\$1,125.00	\$1,125.00	\$2,360.00	\$2,360.00	\$1,000.00	\$1,000.00	\$2,765.00	\$2,765.00
75	MANHOLE. 4' DIAMETER	UNIT	11.00	\$2,500.00	\$27,500.00	\$2,490.00	\$27,390.00	\$2,200.00	\$24,200.00	\$1,865.00	\$20,515.00
76	RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")	SY	650.00	\$45.00	\$29,250.00	\$26.00	\$16,900.00	\$40.00	\$26,000.00	\$70.00	\$45,500.00
77	RIPRAP STONE CHANNEL PROTECTION, 16" THICK (D50=8")	SY	110.00	\$50.00	\$5,500.00	\$37.00	\$4,070.00	\$80.00	\$8,800.00	\$75.00	\$8,250.00
78	RIPRAP STONE CHANNEL PROTECTION, 30" THICK (D50=15")	SY	180.00	\$65.00	\$11,700.00	\$76.00	\$13,680.00	\$90.00	\$16,200.00	\$123.25	\$22,185.00
79	RIPRAP STONE CHANNEL PROTECTION, 36" THICK (D50=18")	SY	320.00	\$105.00	\$33,600.00	\$93.00	\$29,760.00	\$95.00	\$30,400.00	\$142.00	\$45,440.00
80	CHAIN-LINK FENCE, ALUMINUM-COATED STEEL, 6' HIGH	LF	10620.00	\$22.00	\$233,640.00	\$14.80	\$157,176.00	\$22.00	\$233,640.00	\$23.60	\$250,632.00
81	CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH	LF	6165.00	\$30.00	\$184,950.00	\$36.60	\$225,639.00	\$39.00	\$240,435.00	\$39.60	\$244,134.00
82	CHAIN-LINK FENCE, PVC-COATED STEEL, 8' HIGH	LF	504.00	\$35.00	\$17,640.00	\$42.00	\$21,168.00	\$61.00	\$30,744.00	\$55.00	\$27,720.00
83	CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH	LF	800.00	\$40.00	\$32,000.00	\$113.20	\$90,560.00	\$76.00	\$60,800.00	\$63.00	\$50,400.00
84	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 4' WIDE	UNIT	2.00	\$400.00	\$800.00	\$444.00	\$888.00	\$308.00	\$616.00	\$375.00	\$750.00
85	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 10' WIDE	UNIT	1.00	\$975.00	\$975.00	\$888.00	\$888.00	\$750.00	\$750.00	\$965.00	\$965.00
86	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 12' WIDE	UNIT	6.00	\$1,000.00	\$6,000.00	\$1,110.00	\$6,660.00	\$915.00	\$5,490.00	\$1,100.00	\$6,600.00
87	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 12 WIDE	UNIT	1.00	\$1,000.00	\$1,000.00	\$1,332.00	\$1,332.00	\$1,130.00	\$1,130.00	\$1,400.00	\$1,400.00
88	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 24' WIDE	UNIT	3.00	\$1,250.00	\$3,750.00	\$2,220.00	\$6,660.00	\$1,820.00	\$5,460.00	\$2,150.00	\$6,450.00
89	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH x 3'-8" WIDE	UNIT	12.00	\$750.00	\$9,000.00	\$444.00	\$5,328.00	\$455.00	\$5,460.00	\$536.00	\$6,432.00
	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH X 3'-8"			,		,	,	,	,	,	
90	WIDE	UNIT	14.00	\$450.00	\$6,300.00	\$666.00	\$9,324.00	\$756.00	\$10,584.00	\$750.00	\$10,500.00
91	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH X 6' WIDE	UNIT	2.00	\$550.00	\$1,100.00	\$666.00	\$1,332.00	\$680.00	\$1,360.00	\$700.00	\$1,400.00
92	STEEL FENCE, 4' HIGH	LF	128.00	\$90.00	\$11,520.00	\$66.00	\$8,448.00	\$78.00	\$9,984.00	\$67.00	\$8,576.00
93	CONCRETE SIDEWALK, 5" THICK	SY	3367.00	\$48.00	\$161,616.00	\$75.00	\$252,525.00	\$47.00	\$158,249.00	\$55.00	\$185,185.00
94	DETECTABLE WARNING SURFACE	SY	70.00	\$200.00	\$14.000.00	\$235.00	\$16.450.00	\$195.00	\$13,650.00	\$322.00	\$22.540.00

	SOMERSET COUNTY ENGINEERING - BID TABULAT	ON		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		
	MOUNTAIN VIEW PARK, PHASE I			Petillo Inc.		KC Construction	Company		stors Corp	VA Spatz and Sons Construction I		
	LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSI	-~		167 Flanders Ne	toong Dd	1737 Stout Drive		Carbro Construct 605 Omni Dr.	lois coip.	91 Lone Pine Dr		
	CONTRACT No. 14018	- 1		Flanders, NJ 078		Ivyland, PA 1897		Hillsborough, NJ	08844	Berkeley Height		
	BIDS RECEIVED ON 2-12-15			(BID #4)	550	(BID #5)	74	(BID #6)	00044	(BID #7)	3, NJ 0/722	
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
95	12" X 13" CONCRETE SLOPING CURB	LF	250.00	\$25.00	\$6,250.00	\$26.60	\$6,650.00	\$22.00	\$5,500.00	\$20.00	\$5,000.00	
96	6" X 18" CONCRETE VERTICAL CURB		10780.00	\$18.00	\$194.040.00	\$21.75	\$234,465.00	\$16.00	\$172,480.00	\$15.00	\$161,700.00	
97	CONCRETE WHEEL STOP	UNIT	18.00	\$75.00	\$1,350.00	\$83.00	\$1,494.00	\$80.00	\$1,440.00	\$200.00	\$3,600.00	
98	TRAFFIC STRIPES, THERMOPLASTIC, 4"	LF	30300.00	\$0.60	\$18,180.00	\$0.65	\$19,695.00	\$1.00	\$30,300.00	\$0.80	\$24,240.00	
99	TRAFFIC MARKINGS, THERMOPLASTIC	SF	1850.00	\$5.25	\$9,712.50	\$6.00	\$11,100.00	\$6.00	\$11,100.00	\$6.50	\$12,025.00	
100	REGULATORY AND WARNING SIGN	SF	100.00	\$40.00	\$4,000.00	\$44.00	\$4,400.00	\$42.00	\$4,200.00	\$50.00	\$5,000.00	
101	6" DUCTILE IRON WATER PIPE, CLASS 52	LF	70.00	\$65.00	\$4,550.00	\$42.00	\$2,940.00	\$40.00	\$2,800.00	\$54.00	\$3,780.00	
102	8" DUCTILE IRON WATER PIPE, CLASS 52	LF	3700.00	\$65.00	\$240,500.00	\$51.00	\$188,700.00	\$50.00	\$185,000.00	\$58.00	\$214,600.00	
103	2" HDPE WATER PIPE	LF	250.00	\$28.00	\$7,000.00	\$28.00	\$7,000.00	\$30.00	\$7,500.00	\$30.00	\$7,500.00	
104	6" WATER METER AND VAULT	LS	1.00	\$48,000.00	\$48,000.00	\$86,000.00	\$86,000.00	\$50,000.00	\$50,000.00	\$47,363.00	\$47,363.00	
105	6" BACKFLOW PREVENTER AND ENCLOSURE	LS	1.00	\$38,250.00	\$38,250.00	\$11,520.00	\$11,520.00	\$30,000.00	\$30,000.00	\$36,333.00	\$36,333.00	
106	FIRE HYDRANT	UNIT	3.00	\$4,800.00	\$14,400.00	\$5,700.00	\$17,100.00	\$6,000.00	\$18,000.00	\$6,282.00	\$18,846.00	
107	YARD HYDRANT	UNIT	1.00	\$1,750.00	\$1,750.00	\$2,250.00	\$2,250.00	\$1,200.00	\$1,200.00	\$1,824.00	\$1,824.00	
108	8" POLYVINYL CHLORIDE SEWER PIPE	LF	2820.00	\$45.00	\$126,900.00	\$50.00	\$141,000.00	\$65.00	\$183,300.00	\$33.40	\$94,188.00	
109	SANITARY SEWER CLEANOUT	UNIT	5.00	\$525.00	\$2,625.00	\$880.00	\$4,400.00	\$1,000.00	\$5,000.00	\$2,272.00	\$11,360.00	
110	MANHOLE, SANITARY SEWER	UNIT	18.00	\$2,800.00	\$50,400.00	\$3,520.00	\$63,360.00	\$2,750.00	\$49,500.00	\$3,215.00	\$57,870.00	
	RECONSTRUCTED MANHOLE, SANITARY SEWER, USING EXISTING	UNIT	1.00									
111	CASTING			\$700.00	\$700.00	\$1,700.00	\$1,700.00	\$1,200.00	\$1,200.00	\$4,286.00	\$4,286.00	
112	SANITARY SEWER PUMP STATION	LS	1.00	\$275,000.00	\$275,000.00	\$192,000.00	\$192,000.00	\$200,000.00	\$200,000.00	\$221,668.00	\$221,668.00	
113	4" PVC SANITARY SEWER FORCE MAIN	LF	3150.00	\$23.00	\$72,450.00	\$27.00	\$85,050.00	\$30.00	\$94,500.00	\$27.60	\$86,940.00	
114	REINFORCED CONCRETE BLEACHER PAD	SF	2800.00	\$10.00	\$28,000.00	\$8.00	\$22,400.00	\$7.00	\$19,600.00	\$9.00	\$25,200.00	
115	REINFORCED CONCRETE GENERATOR PAD	SF	100.00	\$25.00	\$2,500.00	\$58.00	\$5,800.00	\$8.00	\$800.00	\$30.00	\$3,000.00	
116	REINFORCED CONCRETE DUGOUT PAD	SF	3542.00	\$10.00	\$35,420.00	\$10.00	\$35,420.00	\$7.00	\$24,794.00	\$9.00	\$31,878.00	
117		UNIT	26.00	\$6,500.00 \$5.000.00	\$169,000.00	\$8,500.00	\$221,000.00	\$6,650.00	\$172,900.00	\$6,716.00	\$174,616.00	
118 119		UNIT UNIT	37.00 2.00	\$5,000.00	\$185,000.00 \$10.000.00	\$6,000.00 \$6,000.00	\$222,000.00 \$12,000.00	\$4,900.00 \$4,850.00	\$181,300.00 \$9,700.00	\$4,885.00 \$4,885.00	\$180,745.00 \$9,770.00	
120	LUMINAIRE, TYPE C LUMINAIRE, TYPE J	UNIT	11.00	\$5,500.00	\$60,500.00	\$5,400.00	\$59.400.00	\$4,850.00	\$56.650.00	\$5,190.00	\$57,090.00	
120	LUMINAIRE, TYPE K	UNIT	12.00	\$5,000.00	\$60,000.00	\$5,600.00	\$67,200.00	\$5,150.00	\$61,800.00	\$5,190.00	\$62,280.00	
122	BALLFIELD LIGHTING	LS	12.00	\$800,000.00		\$1,100,000.00		\$1,000,000.00		\$1,030,869.00	\$1,030,869.00	
122	SITE ELECTRICAL WORK	LS	1.00	\$1,550,000.00	\$1,550,000.00	\$856,000.00		\$1,450,000.00		\$1,476,853.00	\$1,476,853.00	
124	BORROW TOPSOIL	CY	41600.00	\$42.00	\$1,747,200.00	\$40.00		\$23.00	\$956,800.00	\$34.10	\$1,418,560.00	
125	BORROW TOPSOIL, BALLFIELDS	CY	5300.00	\$46.00	\$243,800.00	\$57.00	\$302,100.00	\$28.00	\$148,400.00	\$45.00	\$238,500.00	
126	TOPSOIL STABILIZATION, TYPE 3 MAT	SY	14400.00	\$3.55	\$51,120.00	\$5.50	\$79,200.00	\$4.00	\$57,600.00	\$3.86	\$55,584.00	
127	TOPSOIL STABILIZATION, TYPE 4 MAT	SY	46900.00	\$2.10	\$98,490.00	\$1.60	\$75,040.00	\$2.50	\$117,250.00	\$1.45	\$68,005.00	
128	BALLFIELD INFIELD MIX	TON	2310.00	\$48.00	\$110,880.00	\$115.00	\$265,650.00	\$82.00	\$189,420.00	\$62.70	\$144,837.00	
129	SMALL DECIDUOUS TREE, 7-8' HIGH, B&B	UNIT	56.00	\$145.00	\$8,120.00	\$453.00	\$25,368.00	\$150.00	\$8,400.00	\$160.00	\$8,960.00	
130	SMALL DECIDUOUS TREE, 6-7' HIGH, B&B	UNIT	7.00	\$145.00	\$1,015.00	\$311.00	\$2,177.00	\$150.00	\$1,050.00	\$160.00	\$1,120.00	
131	SMALL DECIDUOUS TREE, 5-6' HIGH, B&B	UNIT	41.00	\$175.00	\$7,175.00	\$286.00	\$11,726.00	\$180.00	\$7,380.00	\$190.00	\$7,790.00	
132	EVERGREEN TREE, 7-8' HIGH, B&B	UNIT	92.00	\$260.00	\$23,920.00	\$283.50	\$26,082.00	\$265.00	\$24,380.00	\$280.00	\$25,760.00	
133	DECIDUOUS SHRUB, 4-5' HIGH, B&B	UNIT	23.00	\$100.00	\$2,300.00	\$139.00	\$3,197.00	\$105.00	\$2,415.00	\$120.00	\$2,760.00	
134	DECIDUOUS SHRUB, 18-24" HIGH, #3 CONTAINER	UNIT	205.00	\$40.00	\$8,200.00	\$52.00	\$10,660.00	\$42.00	\$8,610.00	\$45.00	\$9,225.00	
135	PERENNIAL, #1 CONTAINER	UNIT	1875.00	\$12.00	\$22,500.00	\$17.00	\$31,875.00	\$13.00	\$24,375.00	\$13.00	\$24,375.00	
136	FERTILIZING AND SEEDING, BALLFIELD GRASS MIXTURE	SY	30900.00	\$0.70	\$21,630.00	\$1.30	\$40,170.00	\$0.60	\$18,540.00	\$0.90	\$27,810.00	
137	FERTILIZING AND SEEDING, NORTHEAST U.S. ROADSIDE MIXTURE	SY	213600.00	\$1.10	\$234,960.00	\$1.00	\$213,600.00	\$0.60	\$128,160.00	\$0.75	\$160,200.00	
138	FERTILIZING AND SEEDING, UPLAND MEADOW MIXTURE	SY	1370.00	\$0.75	\$1,027.50	\$3.00	\$4,110.00	\$1.00	\$1,370.00	\$1.30	\$1,781.00	
139	FERTILIZING AND SEEDING, TYPE A-4	SY	168710.00	\$1.00								
140	FERTILIZING AND SEEDING, TYPE B	SY	4180.00	\$0.55	\$2,299.00	\$1.60	\$6,688.00	\$0.40	\$1,672.00	\$0.75	\$3,135.00	
141	MOWING	SY	172891.00	\$0.10	\$17,289.10	\$0.15 \$0.75	\$25,933.65	\$0.30	\$51,867.30	\$0.37	\$63,969.67	
142	MOWING BALLFIELDS	SY	30900.00	\$0.35 \$181 750 00	\$10,815.00 \$181,750.00	\$0.75 \$275,000.00	\$23,175.00 \$275,000.00	\$0.50	\$15,450.00	\$0.60	\$18,540.00	
143		LS	1.00	\$181,750.00 \$450.00	\$181,750.00 \$54,900.00	\$275,000.00 \$854.00	\$275,000.00 \$104,188.00	\$170,000.00 \$1,100.00	\$170,000.00 \$134,200.00	\$235,664.00 \$750.00	\$235,664.00 \$91,500.00	
144 145	STONE SEATWALL	LF LS	122.00 1.00	\$450.00	\$12,500.00	\$35,790.00	\$35,790.00	\$1,100.00	\$134,200.00	\$45,790.00	\$91,500.00	
145	BATTING TUNNEL PLAYGROUND EQUIPMENT	LS	1.00	\$12,500.00	\$12,500.00	\$135,000.00	\$135,000.00	\$21,000.00	\$21,000.00		\$45,790.00	
140	DUGOUT STRUCTURE	UNIT	14.00	\$15,500.00	\$104,500.00	\$135,000.00	\$135,000.00	\$9,500.00	\$133,000.00	\$13,502.00	\$121,131.00	
147	STORAGE BUILDING, 14' BY 24'	UNIT	2.00	\$18,500.00	\$37,000.00	\$11,200.00	\$22,400.00	\$11,000.00	\$22,000.00		\$28,400.00	
149	OCTAGONAL PAVILION	UNIT	2.00	\$33,500.00	\$67,000.00	\$63,700.00		\$50,000.00	\$100,000.00	. ,	\$122,716.00	
				+,000.00	÷••,000.00	<i>,</i>	÷ .=. , .00.00	<i></i> ,	+,	÷÷.,000.00	+ -==,0.00	

	SOMERSET COUNTY ENGINEERING - BID TABULATI	ON		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I			Petillo Inc.		KC Construction	Company	Carbro Construc	tors Corp.	VA Spatz and S	ons Construction
	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	Ϋ́		167 Flanders Ne	tcona Rd.	1737 Stout Drive		605 Omni Dr.		91 Lone Pine Dr	
	CONTRACT No. 14018			Flanders, NJ 078		Ivvland, PA 189	74	Hillsborough, N.	08844	Berkeley Height	s. NJ 07922
	BIDS RECEIVED ON 2-12-15			(BID #4)		(BID #5)		(BID #6)		(BID #7)	
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
150	CONCRETE BLOCK STORAGE BIN	LS	1.00	\$15,000.00	\$15,000.00	\$8,480.00	\$8,480.00	\$7,000.00	\$7,000.00	\$12,300.00	\$12,300.00
151	BLEACHER	UNIT	14.00	\$6,700.00	\$93,800.00	\$9,724.00	\$136,136.00	\$7,000.00	\$98,000.00	\$7,613.00	\$106,582.00
152	PARK BENCH	UNIT	10.00	\$1,500.00	\$15,000.00	\$920.00	\$9,200.00	\$2,000.00	\$20,000.00	\$1,395.00	\$13,950.00
153	21' PLAYER BENCH	UNIT	12.00	\$800.00	\$9,600.00	\$846.00	\$10,152.00	\$3,000.00	\$36,000.00	\$1,717.00	\$20,604.00
154	6' PLAYER BENCH	UNIT	2.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$1,181.00	\$2,362.00
155	COLLAPSIBLE BOLLARD	UNIT	4.00	\$1,550.00	\$6,200.00	\$1,490.00	\$5,960.00	\$1,400.00	\$5,600.00	\$1,880.00	\$7,520.00
156	BARRIER NETTING	LF	400.00	\$99.50	\$39,800.00	\$121.00	\$48,400.00	\$210.00	\$84,000.00	\$161.00	\$64,400.00
157	FENCE TOP RAIL GUARD	LF	2733.00	\$2.50	\$6,832.50	\$4.00	\$10,932.00	\$5.00	\$13,665.00	\$4.00	\$10,932.00
158	FOUL LINE POLE	UNIT	14.00	\$1,300.00	\$18,200.00	\$1,250.00	\$17,500.00	\$2,400.00	\$33,600.00	\$1,400.00	\$19,600.00
159	BACKSTOP	UNIT	7.00	\$20,000.00	\$140,000.00	\$20,600.00	\$144,200.00	\$21,500.00	\$150,500.00	\$17,140.00	\$119,980.00
160	PITCHER'S PLATE	UNIT	18.00	\$150.00	\$2,700.00	\$250.00	\$4,500.00	\$76.00	\$1,368.00	\$325.00	\$5,850.00
161	HOME PLATE	UNIT	18.00	\$160.00	\$2,880.00	\$270.00	\$4,860.00	\$74.00	\$1,332.00	\$965.00	\$17,370.00
162	BASES	UNIT	18.00	\$400.00	\$7,200.00	\$230.00	\$4,140.00	\$260.00	\$4,680.00	\$325.00	\$5,850.00
163	PITCHER'S MOUND	UNIT	6.00	\$1,500.00	\$9,000.00	\$880.00	\$5,280.00	\$3,000.00	\$18,000.00	\$750.00	\$4,500.00
164	BATTER BOX	UNIT	6.00	\$1,650.00	\$9,900.00	\$1,300.00	\$7,800.00	\$3,200.00	\$19,200.00	\$2,678.00	\$16,068.00
165	FLAGPOLE	UNIT	1.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$15,007.00	\$15,007.00
166	SCOREBOARD	UNIT	7.00	\$6,150.00	\$43,050.00	\$10,000.00	\$70,000.00	\$7,000.00	\$49,000.00	\$10,182.00	\$71,274.00
167	CONCESSION BUILDING	LS	1.00	\$740,000.00	\$740,000.00	\$913,000.00	\$913,000.00	\$835,000.00	\$835,000.00	\$1,081,912.00	\$1,081,912.00
168	MAINTENANCE BUILDING	LS	1.00	\$485,000.00	\$485,000.00	\$734,000.00	\$734,000.00	\$700,000.00	\$700,000.00	\$835,536.00	\$835,536.00
169	CONTRACTOR ALLOWANCE FOR BUILDINGS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
170	CONTRACTOR ALLOWANCE FOR UTILITIES	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
171	CONTRACTOR ALLOWANCE FOR HAZARDOUS MATERIALS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
			BID TOTAL =	\$18,367,051.00	BID TOTAL =	\$18,989,130.65	BID TOTAL =	\$19,137,575.30	BID TOTAL =	\$19,447,138.17	

ę	SOMERSET COUNTY ENGINEERING - BID TABULATI	ON		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	1
2	MOUNTAIN VIEW PARK, PHASE I	<u>un</u>		FPIC		Berto Constructi	ion Inc		pe Technologies		ses Inc
1	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	V		136 Eleventh St	reet	625 Leesville Av		145 River Rd.	ipe reennologies	2000 Route 35 N	
L	CONTRACT No. 14018	- 1		Piscataway, NJ		Rahway, NJ 070		Montville, NJ 07	045	Morgan, NJ 088	
	BIDS RECEIVED ON 2-12-15			(BID #8)	50054	(BID #9)	000	(BID #10)	045	(BID #11)	/ /
Г	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
1		DOLLAR	1.00	\$160,000.00	\$160.000.00	\$138,933.28	\$138,933.28	\$390,000.00	\$390,000.00	\$125,897.29	\$125,897.29
2	PROGRESS SCHEDULE	LS	1.00	\$45,000.00	\$45,000.00	\$10.000.00	\$10.000.00	\$1.500.00	\$1,500.00	\$23,940.00	\$23.940.00
3	MOBILIZATION	LS	1.00	\$425,000.00	\$425,000.00	\$230,000.00	+ -/	+)	\$750,000.00	\$658,451.00	\$658,451.00
4	FIELD OFFICE TYPE C SET UP	UNIT	1.00	\$23,775.00	\$23,775.00	\$27,500.00	\$27,500.00	\$65,000.00	\$65,000.00	\$34,078.34	\$34,078.34
5	FIELD OFFICE TYPE C MAINTENANCE	MO	27.00	\$2,900.00	\$78,300.00	\$1,000.00	\$27,000.00	\$1,000.00	\$27,000.00	\$3,346.88	\$90,365.76
6	INCENTIVE/DISINCENTIVE	LS	1.00	\$200.000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
7	CONSTRUCTION LAYOUT	DOLLAR	1.00	\$242,708.00	\$242,708.00	\$294,400.00	\$294,400.00	\$200,000.00	\$200,000.00	\$481,635.00	\$481,635.00
8	INLET FILTER TYPE 2. 4' X 4'	UNIT	117.00	\$121.00	\$14,157.00	\$51.00	\$5,967.00	\$60.00	\$7,020.00	\$141.75	\$16,584.75
9	CONCRETE WASHOUT SYSTEM	LS	1.00	\$5,000.00	\$5,000.00	\$2,620.00	\$2,620.00	\$3,000.00	\$3,000.00	\$24,202.50	\$24,202.50
10	BIORETENTION SYSTEM	SY	3000.00	\$85.00	\$255,000.00	\$68.00	\$204,000.00	\$52.00	\$156.000.00	\$115.87	\$347,610.00
11	HEAVY DUTY SILT FENCE, BLACK	LF	16600.00	\$4.00	\$66,400.00	\$1.85	\$30,710.00	\$3.00	\$49,800.00	\$5.51	\$91,466.00
12	HAYBALE	UNIT	250.00	\$9.00	\$2,250.00	\$8.00	\$2,000.00	\$3.50	\$875.00	\$18.38	\$4,595.00
13	CONSTRUCTION DRIVEWAY	TON	190.00	\$36.00	\$6,840.00	\$40.00	\$7,600.00	\$33.00	\$6,270.00	\$105.92	\$20,124.80
14	OIL ONLY EMERGENCY SPILL KIT, TYPE 1	UNIT	1.00	\$500.00	\$500.00	\$830.00	\$830.00	\$650.00	\$650.00	\$1,322.79	\$1,322.79
15	IMPERMEABLE LINER, 10 MIL THICK	SY	46900.00	\$2.07	\$97,083.00	\$1.61	\$75,509.00	\$3.75	\$175,875.00	\$1.30	\$60,970.00
16		DOLLAR	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
17		DOLLAR	1.00	\$130,500.00	\$130,500.00	\$130,500.00	\$130.500.00		\$130,500.00	\$130,500.00	\$130,500.00
18		DOLLAR	1.00	\$198,300.00	\$198,300.00	\$198,300.00	\$198,300.00	*)	\$198,300.00	\$198,300.00	\$198,300.00
19	FINAL CLEANUP	LS	1.00	\$20,150.00	\$20,150.00	\$84,000.00	\$84,000.00	\$20,000.00	\$20,000.00	\$23,597.71	\$23,597.71
20	CLEARING SITE	LS	1.00	\$519.624.00		\$1,900,000.00	. ,	. ,	\$888,284.00	\$413.501.06	\$413,501.06
21	SELECTIVE THINNING	SY	7000.00	\$2.25	\$15,750.00	\$2.17	\$15,190.00	\$1.00	\$7,000.00	\$10.18	\$71,260.00
22	RESET MONITORING WELL	UNIT	4.00	\$3,000.00	\$12,000.00	\$1.00	\$4.00	\$700.00	\$2,800.00	\$1,209.38	\$4,837.52
23	MONITORING WELL BOX	UNIT	1.00	\$3,000.00	\$3,000.00	\$700.00	\$700.00	\$125.00	\$125.00	\$1,388.06	\$1,388.06
24	EXCAVATION, TEST PIT	CY	100.00	\$35.35	\$3,535.00	\$55.20	\$5,520.00	\$0.01	\$1.00	\$1,001.03	\$100,103.00
25	EXCAVATION, UNCLASSIFIED	CY	125000.00		\$1,093,750.00	\$7.50	\$937,500.00		\$1,875,000.00	\$14.67	\$1,833,750.00
26	EXCAVATION, REGULATED MATERIAL	CY	43460.00	\$10.00	\$434,600.00	\$6.75	\$293,355.00	\$6.75	\$293,355.00	\$10.91	\$474,148.60
27	SOIL SAMPLING AND ANALYSIS, REGULATED	UNIT	100.00	\$1,000.00	\$100,000.00	\$420.00	\$42,000.00	\$1,350.00	\$135,000.00	\$1,175.42	\$117,542.00
28	REMOVAL OF PAVEMENT	TON	22000.00	\$41.00	\$902,000.00	\$24.50	\$539,000.00	\$18.00	\$396,000.00	\$13.96	\$307,120.00
29	DISPOSAL OF REGULATED MATERIAL	TON	1000.00	\$74.00	\$74,000.00	\$71.68	\$71,680.00	\$19.50	\$19,500.00	\$54.49	\$54,490.00
30	NO ITEM	XXXXX	XXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX
31	ORANGE PLASTIC CAUTION GEOTEXTILE	SY	61000.00	\$1.50	\$91,500.00	\$1.90	\$115,900.00	\$0.30	\$18,300.00	\$0.88	\$53,680.00
	SOIL AGGREGATE BASE COURSE, VARIABLE	CY	0000.00								
32	THICKNESS	υř	2000.00	\$17.75	\$35,500.00	\$25.00	\$50,000.00	\$0.01	\$20.00	\$46.10	\$92,200.00
33	SOIL AGGREGATE BASE COURSE, RCA	CY	14600.00	\$13.00	\$189,800.00	\$5.75	\$83,950.00	\$10.00	\$146,000.00	\$29.31	\$427,926.00
34	DENSE-GRADED AGGREGATE BASE COURSE	CY	2000.00	\$17.75	\$35,500.00	\$31.75	\$63,500.00	\$27.00	\$54,000.00	\$46.10	\$92,200.00
35	DENSE-GRADED AGGREGATE BASE COURSE, RCA	CY	12500.00	\$17.00	\$212,500.00	\$6.75	\$84,375.00	\$18.00	\$225,000.00	\$43.96	\$549,500.00
36	COARSE AGGREGATE, NO. 57	CY	1000.00	\$25.00	\$25,000.00	\$58.36	\$58,360.00	\$34.00	\$34,000.00	\$28.94	\$28,940.00
37	HOT MIX ASPHALT 12.5 M 76 SURFACE COURSE	TON	9020.00	\$97.00	\$874,940.00	\$89.50	\$807,290.00	\$81.00	\$730,620.00	\$85.07	\$767,331.40
38	HOT MIX ASPHALT 25 M 64 BASE COURSE	TON	19330.00	\$81.00	\$1,565,730.00	\$76.50	\$1,478,745.00	\$80.00	\$1,546,400.00	\$67.32	\$1,301,295.60
	MODIFIED OPEN-GRADED 12.5 FRICTION COURSE, 4"	SY	2566.00								
39	THK.			\$28.00	\$71,848.00	\$30.00	\$76,980.00	\$27.00	\$69,282.00	\$27.33	\$70,128.78
40	TEXTURED SURFACE TREATMENT PAVEMENT	SY	240.00	\$80.00	\$19,200.00	\$72.00	\$17,280.00	\$100.00	\$24,000.00	\$75.60	\$18,144.00
	POURED-IN-PLACE RUBBER SURFACING (CHALLENGER	SY	2566.00								
41	FIELD)	01	2300.00	\$78.00	\$200,148.00	\$42.75	\$109,696.50	\$53.00	\$135,998.00	\$44.89	\$115,187.74
	POURED-IN-PLACE RUBBER SURFACING (PLAYGROUND)	SY	986.00								
42			000.00	\$75.00	\$73,950.00				\$98,600.00		\$90,850.04
43	12" REINFORCED CONCRETE PIPE	LF	850.00	\$53.00	\$45,050.00	\$28.00	\$23,800.00	\$80.00	\$68,000.00	\$46.86	\$39,831.00
44	15" REINFORCED CONCRETE PIPE	LF	1250.00	\$53.00	\$66,250.00	\$32.00	\$40,000.00	\$78.00	\$97,500.00	\$56.18	\$70,225.00
45	18" REINFORCED CONCRETE PIPE	LF	750.00	\$60.00	\$45,000.00	\$29.50	\$22,125.00	\$80.00	\$60,000.00	\$54.25	\$40,687.50
46	24" REINFORCED CONCRETE PIPE	LF	250.00	\$65.00	\$16,250.00	\$33.50	\$8,375.00	\$85.00	\$21,250.00	\$78.95	\$19,737.50
47	36" REINFORCED CONCRETE PIPE	LF	170.00	\$100.00	\$17,000.00	\$74.00		\$108.00	\$18,360.00	\$111.58	\$18,968.60
48	42" REINFORCED CONCRETE PIPE	LF	80.00	\$126.00	\$10,080.00	\$105.00	. ,	\$121.00	\$9,680.00	\$150.25	\$12,020.00
49	8" HIGH DENSITY POLYETHYLENE PIPE	LF	4900.00	\$36.00	\$176,400.00	\$30.00	\$147,000.00	\$42.00	\$205,800.00	\$35.35	\$173,215.00
49 50	10" HIGH DENSITY POLYETHYLENE PIPE	LF	760.00	\$37.00	\$28,120.00	\$22.00		\$67.00	\$50,920.00	\$37.63	\$28,598.80

:	SOMERSET COUNTY ENGINEERING - BID TABULATI	ON		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I			FPIC		Berto Constructi	on Inc.	Applied Landsca	pe Technologies	Tarheel Enterpris	ses. Inc.
1	LSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSE	Y		136 Eleventh Str	eet	625 Leesville Av		145 River Rd.		2000 Route 35 N	
-	CONTRACT No. 14018			Piscataway, NJ (Rahway, NJ 070		Montville, NJ 070)45	Morgan, NJ 0887	
	BIDS RECEIVED ON 2-12-15			(BID #8)		(BID #9)		(BID #10)		(BID #11)	
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
51	12" HIGH DENSITY POLYETHYLENE PIPE	LF	170.00	\$38.00	\$6,460.00	\$20.00	\$3,400.00	\$67.00	\$11.390.00	\$37.00	\$6,290.00
52	15" HIGH DENSITY POLYETHYLENE PIPE	LF	520.00	\$41.00	\$21,320.00	\$37.00	\$19,240.00	\$70.00	\$36,400.00	\$47.27	\$24,580.40
53	18" HIGH DENSITY POLYETHYLENE PIPE	LF	320.00	\$46.00	\$14,720.00	\$48.00	\$15,360.00	\$71.00	\$22,720.00	\$56.94	\$18,220.80
54	24" HIGH DENSITY POLYETHYLENE PIPE	LF	1230.00	\$58.00	\$71,340.00	\$43.00	\$52,890.00	\$78.00	\$95,940.00	\$60.43	\$74,328.90
55	30" HIGH DENSITY POLYETHYLENE PIPE	LF	550.00	\$69.00	\$37,950.00	\$37.00	\$20,350.00	\$85.00	\$46,750.00	\$70.94	\$39,017.00
56	38" X 60" REINFORCED CONCRETE ELLIPTICAL PIPE, CLASS HE - IV	LF	480.00	\$270.00	\$129,600.00	\$240.00	\$115,200.00	\$240.00	\$115,200.00	\$283.60	\$136,128.00
57	16" DUCTILE IRON PIPE, CLASS 52	LF	550.00	\$97.00	\$53,350.00	\$80.00	\$44,000.00	\$77.00	\$42,350.00	\$93.07	\$51,188.50
58	1" X 12" OBLONG PERFORATED HIGH DENSITY POLYETHYLENE PIPE	LF	20050.00	\$10.00	\$200,500.00	\$12.00	\$240,600.00	\$8.00	\$160,400.00	\$12.86	\$257,843.00
59	4" PERFORATED HIGH DENSITY POLYETHYLENE UNDERDRAIN	LF	4500.00	\$19.00	\$85,500.00	\$14.50	\$65.250.00	\$38.00	\$171,000.00	\$18.64	\$83,880.00
60	VIDEO INSPECTION OF PIPE	LF	1300.00	\$8.00	\$10,400.00	\$3.00	\$3,900.00	\$3.00	\$3,900.00	\$3.94	\$5,122.00
61	CLEANING EXISTING PIPE, 12" TO 24" DIAMETER	LF	1300.00	\$4.00	\$5,200.00	\$9.75	\$12,675.00	\$5.00	\$6,500.00	\$5.01	\$6,513.00
62	12" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$880.00	\$880.00	\$800.00	\$800.00	\$900.00	\$900.00	\$2,104.16	\$2,104.16
63	24" REINFORCED CONCRETE END SECTION	UNIT	2.00	\$1,350.00	\$2,700.00	\$1,350.00	\$2,700.00	\$1,400.00	\$2,800.00	\$2,516.70	\$5,033.40
64	30" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00	\$2,824.20	\$2,824.20
65	CONCRETE HEADWALL	CY	230.00	\$600.00	\$138,000.00	\$750.00	\$172,500.00	\$1,000.00	\$230,000.00	\$1,218.63	\$280,284.90
66	8" DRAIN INLET	UNIT	5.00	\$600.00	\$3,000.00	\$725.00	\$3,625.00	\$1,100.00	\$5,500.00	\$1,447.82	\$7,239.10
67	12" DRAIN INLET	UNIT	32.00	\$800.00	\$25.600.00	\$1.000.00	\$32,000.00	\$2,100.00	\$67,200.00	\$1,896.36	\$60,683.52
68	15" DRAIN INLET	UNIT	5.00	\$925.00	\$4,625.00	\$1,250.00	\$6,250.00	\$1,800.00	\$9,000.00	\$2,327.87	\$11,639.35
69	18" DRAIN INLET	UNIT	4.00	\$1.000.00	\$4,000.00	\$1,400.00	\$5,600.00	\$1,850.00	\$7,400.00	\$2,439.08	\$9,756.32
70	24" DRAIN INLET	UNIT	12.00	\$1,300.00	\$15,600.00	\$1,600.00	\$19,200.00	\$2,100.00	\$25,200.00	\$2,692.89	\$32,314.68
71	30" DRAIN INLET	UNIT	5.00	\$2,200.00	\$11,000.00	\$2,700.00	\$13,500.00	\$3,000.00	\$15,000.00	\$4,118.85	\$20,594.25
72	8" INLINE DRAIN INLET	UNIT	32.00	\$250.00	\$8,000.00	\$575.00	\$18,400.00	\$1,700.00	\$54,400.00	\$1,317.22	\$42,151.04
73	INLET, TYPE E	UNIT	20.00	\$2,200.00	\$44,000.00	\$3,000.00	\$60,000.00	\$2.600.00	\$52,000.00	\$3,660.00	\$73,200.00
74	RECONSTRUCTED INLET, TYPE E, USING NEW CASTING	UNIT	1.00	\$2,650.00	\$2,650.00	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$2,507.66	\$2,507.66
75	MANHOLE, 4' DIAMETER	UNIT	11.00	\$1,800.00	\$19,800.00	\$2,500.00	\$27,500.00	\$2,300.00	\$25,300.00	\$2,904.27	\$31,946.97
76	RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")	SY	650.00	\$30.00	\$19,500.00	\$43.00	\$27,950.00	\$160.00	\$104,000.00	\$43.41	\$28,216.50
77	RIPRAP STONE CHANNEL PROTECTION, 16" THICK (D50=8")	SY	110.00	\$39.00	\$4,290.00	\$50.00	\$5,500.00	\$165.00	\$18,150.00	\$69.29	\$7,621.90
78	RIPRAP STONE CHANNEL PROTECTION, 30" THICK (D50=15")	SY	180.00	\$69.00	\$12,420.00	\$48.00	\$8,640.00	\$178.00	\$32,040.00	\$94.23	\$16,961.40
79	RIPRAP STONE CHANNEL PROTECTION, 36" THICK (D50=18")	SY	320.00	\$82.00	\$26,240.00	\$105.00	\$33,600.00	\$183.00	\$58,560.00	\$106.16	\$33,971.20
80	CHAIN-LINK FENCE, ALUMINUM-COATED STEEL, 6' HIGH	LF	10620.00	\$21.00	\$223,020.00	\$19.50	\$207,090.00	\$24.00	\$254,880.00	\$20.48	\$217,497.60
81	CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH	LF	6165.00	\$30.00	\$184,950.00	\$35.50	\$218,857.50	\$30.00	\$184,950.00	\$37.28	\$229,831.20
82	CHAIN-LINK FENCE, PVC-COATED STEEL, 8' HIGH	LF	504.00	\$40.00	\$20,160.00	\$58.75	\$29,610.00	\$35.00	\$17,640.00	\$61.69	\$31,091.76
83	CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH	LF	800.00	\$50.00	\$40,000.00	\$74.50	\$59,600.00	\$40.00	\$32,000.00	\$78.23	\$62,584.00
84	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 4' WIDE	UNIT	2.00	\$300.00	\$600.00	\$515.00	\$1,030.00	\$400.00	\$800.00	\$540.75	\$1,081.50
85	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 10' WIDE	UNIT	1.00	\$750.00	\$750.00	\$995.00	\$995.00	\$975.00	\$975.00	\$1,044.75	\$1,044.75
86	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 12' WIDE	UNIT	6.00	\$900.00	\$5,400.00	\$1,020.00	\$6,120.00	\$1,000.00	\$6,000.00	\$1,071.00	\$6,426.00
87	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 15' WIDE	UNIT	1.00	\$1,125.00	\$1,125.00	\$1,181.82	\$1,181.82	\$1,000.00	\$1,000.00	\$1,240.05	\$1,240.05
88	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 24' WIDE	UNIT	3.00	\$1,800.00	\$5,400.00	\$1,995.95	\$5,987.85	\$1,250.00	\$3,750.00	\$2,094.75	\$6,284.25
89	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH x 3'-8" WIDE	UNIT	12.00	\$300.00	\$3,600.00	\$580.00	\$6,960.00	\$450.00	\$5,400.00	\$609.00	\$7,308.00
	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH X 3'-8"				. ,						
90	WIDE	UNIT	14.00	\$500.00	\$7,000.00	\$925.00	\$12,950.00	\$550.00	\$7,700.00	\$971.25	\$13,597.50
91	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH X 6' WIDE	UNIT	2.00	\$450.00	\$900.00	\$780.00	\$1,560.00	\$600.00	\$1,200.00	\$819.00	\$1,638.00
92	STEEL FENCE, 4' HIGH	LF	128.00	\$60.00	\$7,680.00	\$79.95	\$10,233.60	\$120.00	\$15,360.00	\$83.95	\$10.745.60
93	CONCRETE SIDEWALK, 5" THICK	SY	3367.00	\$62.00	\$208,754.00	\$76.99	\$259,225.33	\$55.00	\$185,185.00	\$50.93	\$171,481.31
94	DETECTABLE WARNING SURFACE	SY	70.00	\$215.00	\$15,050.00	\$112.50	\$7.875.00	\$275.00	\$19,250.00	\$294.40	\$20,608.00

SOMERSET COUNTY ENGINEERING - BID TABULATION					BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
	MOUNTAIN VIEW PARK, PHASE I	FPIC		Berto Construction Inc.		Applied Landscape Technologies						
LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSEY						625 Leesville Ave.		145 River Rd.		2000 Route 35 North		
	CONTRACT No. 14018	- '		Piscataway, NJ		Rahway, NJ 070		Montville, NJ 07045		Morgan, NJ 08879		
	BIDS RECEIVED ON 2-12-15			,	2		(BID #9)		(BID #10)		(BID #11)	
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
95	12" X 13" CONCRETE SLOPING CURB	LF	250.00	\$22.00	\$5,500.00	\$12.87	\$3.217.50	\$16.00	\$4,000.00	\$14.54	\$3.635.00	
96	6" X 18" CONCRETE VERTICAL CURB	LF	10780.00	\$18.00	\$194.040.00	\$12.87	\$138,738.60	\$16.50	\$177,870.00	\$8.15	\$87.857.00	
97	CONCRETE WHEEL STOP	UNIT	18.00	\$100.00	\$1,800.00	\$75.00	\$1,350.00	\$75.00	\$1,350.00	\$78.75	\$1,417.50	
98	TRAFFIC STRIPES, THERMOPLASTIC, 4"	LF	30300.00	\$0.72	\$21,816.00	\$0.60	\$18,180.00	\$0.60	\$18,180.00	\$0.63	\$19,089.00	
99	TRAFFIC MARKINGS, THERMOPLASTIC	SF	1850.00	\$6.50	\$12,025.00	\$5.50	\$10,175.00	\$5.50	\$10,175.00	\$5.78	\$10,693.00	
100	REGULATORY AND WARNING SIGN	SF	100.00	\$45.00	\$4,500.00	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$42.00	\$4,200.00	
101	6" DUCTILE IRON WATER PIPE, CLASS 52	LF	70.00	\$68.00	\$4,760.00	\$40.00	\$2,800.00	\$58.00	\$4,060.00	\$135.30	\$9,471.00	
102	8" DUCTILE IRON WATER PIPE, CLASS 52	LF	3700.00	\$69.00	\$255,300.00	\$43.00	\$159,100.00	\$67.00	\$247,900.00	\$74.68	\$276,316.00	
103	2" HDPE WATER PIPE	LF	250.00	\$35.00	\$8,750.00	\$15.00	\$3,750.00	\$30.00	\$7,500.00	\$43.92	\$10,980.00	
104	6" WATER METER AND VAULT	LS	1.00	\$42,000.00	\$42,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$40,091.87	\$40,091.87	
105	6" BACKFLOW PREVENTER AND ENCLOSURE	LS	1.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$31,076.59	\$31,076.59	
106	FIRE HYDRANT	UNIT	3.00	\$5,975.00	\$17,925.00	\$4,700.00	\$14,100.00	\$4,000.00	\$12,000.00	\$7,799.25	\$23,397.75	
107	YARD HYDRANT	UNIT	1.00	\$2,200.00	\$2,200.00	\$3,000.00	\$3,000.00	\$2,100.00	\$2,100.00	\$6,041.42	\$6,041.42	
108	8" POLYVINYL CHLORIDE SEWER PIPE	LF	2820.00	\$65.00	\$183,300.00	\$70.00	\$197,400.00	\$66.00	\$186,120.00	\$152.22	\$429,260.40	
109	SANITARY SEWER CLEANOUT	UNIT	5.00	\$340.00	\$1,700.00	\$725.00	\$3,625.00	\$250.00	\$1,250.00	\$571.32	\$2,856.60	
110	MANHOLE, SANITARY SEWER	UNIT	18.00	\$2,525.00	\$45,450.00	\$4,000.00	\$72,000.00	\$2,400.00	\$43,200.00	\$4,371.55	\$78,687.90	
	RECONSTRUCTED MANHOLE, SANITARY SEWER, USING EXISTING	UNIT	1.00				.					
111	CASTING			\$2,875.00	\$2,875.00	\$2,500.00	\$2,500.00	\$900.00	\$900.00	\$1,693.91	\$1,693.91	
112	SANITARY SEWER PUMP STATION	LS	1.00	\$182,000.00	\$182,000.00	\$205,000.00	\$205,000.00	\$165,000.00	\$165,000.00	\$203,835.89	\$203,835.89	
113	4" PVC SANITARY SEWER FORCE MAIN	LF	3150.00	\$30.00	\$94,500.00	\$31.00	\$97,650.00	\$41.00	\$129,150.00	\$28.39	\$89,428.50	
114	REINFORCED CONCRETE BLEACHER PAD	SF	2800.00	\$7.50	\$21,000.00	\$8.48	\$23,744.00	\$7.00	\$19,600.00	\$7.76	\$21,728.00	
115	REINFORCED CONCRETE GENERATOR PAD	SF	100.00	\$72.00	\$7,200.00	\$15.00	\$1,500.00	\$7.00	\$700.00	\$6.83	\$683.00	
116	REINFORCED CONCRETE DUGOUT PAD	SF	3542.00	\$13.00	\$46,046.00	\$20.42	\$72,327.64	\$7.00	\$24,794.00	\$10.90	\$38,607.80	
117	LUMINAIRE, TYPE A	UNIT	26.00	\$6,900.00	\$179,400.00	\$4,855.00	\$126,230.00	\$6,500.00	\$169,000.00	\$7,287.00	\$189,462.00	
118 119	LUMINAIRE, TYPE B	UNIT	37.00 2.00	\$5,100.00 \$5,200.00	\$188,700.00 \$10,400.00	\$4,855.00	\$179,635.00 \$9,710.00	\$5,500.00 \$5,000.00	\$203,500.00 \$10,000.00	\$5,418.00	\$200,466.00 \$11,025.00	
120	LUMINAIRE, TYPE C	UNIT		\$5,200.00	\$59,400.00	\$4,855.00	. ,	\$5,000.00	. ,	\$5,512.50	\$63,525.00	
		UNIT	11.00 12.00	\$5,400.00	\$64,800.00	\$4,855.00 \$6,000.00	\$53,405.00 \$72,000.00	\$5,000.00	\$55,000.00 \$72,000.00	\$5,775.00 \$5,775.00	\$69,300.00	
121 122	LUMINAIRE, TYPE K BALLFIELD LIGHTING	UNIT LS	12.00	\$880,000.00	. ,	\$1,400,033.00		\$850,000.00	\$850,000.00	\$861,000.00	\$861,000.00	
122	SITE ELECTRICAL WORK	LS	1.00	\$1,600,000.00		\$1,141,565.00		\$1,650,000.00		\$1,690,357.99	\$1,690,357.99	
123	BORROW TOPSOIL	CY	41600.00	\$29.29	\$1,218,464.00	\$40.00		\$38.00	\$1,580,800.00	\$37.70	\$1,568,320.00	
125	BORROW TOPSOIL, BALLFIELDS	CY	5300.00	\$53.82	\$285,246.00	\$44.00	\$233,200.00	\$50.00	\$265,000.00	\$50.24	\$266,272.00	
126	TOPSOIL STABILIZATION, TYPE 3 MAT	SY	14400.00	\$0.70	\$10,080.00	\$4.65	\$66,960.00	\$2.30	\$33,120.00	\$4.99	\$71,856.00	
127	TOPSOIL STABILIZATION, TYPE 4 MAT	SY	46900.00	\$0.54	\$25,326.00	\$2.85	\$133,665.00	\$0.60	\$28,140.00	\$1.31	\$61,439.00	
128	BALLFIELD INFIELD MIX	TON	2310.00	\$60.00	\$138,600.00	\$44.00	\$101,640.00	\$120.00	\$277,200.00	\$46.20	\$106,722.00	
129	SMALL DECIDUOUS TREE, 7-8' HIGH, B&B	UNIT	56.00	\$228.00	\$12,768.00	\$235.00	\$13,160.00	\$300.00	\$16,800.00	\$341.25	\$19,110.00	
130	SMALL DECIDUOUS TREE, 6-7' HIGH, B&B	UNIT	7.00	\$220.00	\$1,540.00	\$185.00	\$1,295.00	\$300.00	\$2,100.00	\$299.25	\$2,094.75	
131	SMALL DECIDUOUS TREE, 5-6' HIGH, B&B	UNIT	41.00	\$220.00	\$9,020.00	\$150.00	\$6,150.00	\$250.00	\$10,250.00	\$262.50	\$10,762.50	
132	EVERGREEN TREE, 7-8' HIGH, B&B	UNIT	92.00	\$150.00	\$13,800.00	\$235.00	\$21,620.00	\$75.00	\$6,900.00	\$393.75	\$36,225.00	
133	DECIDUOUS SHRUB, 4-5' HIGH, B&B	UNIT	23.00	\$150.00	\$3,450.00	\$70.00	\$1,610.00	\$65.00	\$1,495.00	\$99.75	\$2,294.25	
134	DECIDUOUS SHRUB, 18-24" HIGH, #3 CONTAINER	UNIT	205.00	\$36.00	\$7,380.00	\$48.00	\$9,840.00	\$40.00	\$8,200.00	\$45.15	\$9,255.75	
135	PERENNIAL, #1 CONTAINER	UNIT	1875.00	\$13.00	\$24,375.00	\$14.00	\$26,250.00	\$16.00	\$30,000.00	\$12.60	\$23,625.00	
136	FERTILIZING AND SEEDING, BALLFIELD GRASS MIXTURE	SY	30900.00	\$1.31	\$40,479.00	\$0.80	\$24,720.00	\$0.60	\$18,540.00	\$0.89	\$27,501.00	
137	FERTILIZING AND SEEDING, NORTHEAST U.S. ROADSIDE MIXTURE	SY	213600.00	\$1.35	\$288,360.00	\$0.55	\$117,480.00	\$0.45	\$96,120.00	\$1.00	\$213,600.00	
138	FERTILIZING AND SEEDING, UPLAND MEADOW MIXTURE	SY	1370.00	\$2.00	\$2,740.00	\$1.00	\$1,370.00	\$0.60	\$822.00	\$1.10	\$1,507.00	
139	FERTILIZING AND SEEDING, TYPE A-4	SY	168710.00	\$1.20	\$202,452.00				\$84,355.00		\$133,280.90	
140	FERTILIZING AND SEEDING, TYPE B	SY	4180.00	\$1.20	\$5,016.00	\$0.356	\$1,488.08	\$0.50	\$2,090.00	\$0.79	\$3,302.20	
141	MOWING	SY	172891.00	\$0.19	\$32,849.29	\$0.292	\$50,484.17	\$0.50	\$86,445.50	\$0.12	\$20,746.92	
142	MOWING BALLFIELDS	SY	30900.00	\$0.47	\$14,523.00	\$0.50	\$15,450.00	\$0.50	\$15,450.00	\$0.07	\$2,163.00	
143	IRRIGATION SYSTEM	LS	1.00	\$171,750.00	\$171,750.00	\$260,000.00	\$260,000.00	\$260,000.00	\$260,000.00	\$327,902.44	\$327,902.44	
144	STONE SEATWALL	LF	122.00	\$599.00	\$73,078.00	\$418.49	\$51,055.78	\$235.00	\$28,670.00	\$628.55	\$76,683.10	
145	BATTING TUNNEL	LS	1.00	\$59,320.00	\$59,320.00	\$32,245.00	\$32,245.00	\$13,200.00	\$13,200.00	\$31,153.50	\$31,153.50	
146	PLAYGROUND EQUIPMENT	LS	1.00	\$107,000.00	\$107,000.00	\$172,943.00	\$172,943.00	\$68,000.00	\$68,000.00	. ,	\$90,911.84	
147	DUGOUT STRUCTURE	UNIT	14.00	\$9,599.00	\$134,386.00	\$8,835.00	\$123,690.00	\$15,000.00	\$210,000.00	\$11,688.78	\$163,642.92	
148	STORAGE BUILDING, 14' BY 24'	UNIT	2.00	\$12,709.00	\$25,418.00	\$32,216.00	\$64,432.00	\$110,000.00	\$220,000.00		\$24,826.38	
149	OCTAGONAL PAVILION	UNIT	2.00	\$52,000.00	\$104,000.00	\$71,376.00	\$142,752.00	\$65,000.00	\$130,000.00	\$50,365.32	\$100,730.64	

SOMERSET COUNTY ENGINEERING - BID TABULATION				BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME	
				FPIC		Berto Construction Inc.		Applied Landscape Technologies		Tarbeel Enterprises Inc	
						625 Leesville Ave.		145 River Rd.		2000 Route 35 North	
			Piscataway, NJ		Rahway, NJ 07065		Montville, NJ 07045		Morgan, NJ 08879		
			(BID #8)		(BID #9)		(BID #10)		(BID #11)		
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
150	CONCRETE BLOCK STORAGE BIN	LS	1.00	\$4.000.00	\$4.000.00	\$9.440.00	\$9.440.00	\$5.000.00	\$5.000.00	\$4.272.38	\$4.272.38
151	BLEACHER	UNIT	14.00	\$5,600.00	\$78,400.00	\$6.065.00	\$84,910.00	\$10.000.00	\$140,000.00	\$6,164.86	\$86,308.04
152	PARK BENCH	UNIT	10.00	\$725.00	\$7.250.00	\$933.00	\$9,330.00	\$950.00	\$9.500.00	\$1,199.63	\$11,996.30
153	21' PLAYER BENCH	UNIT	12.00	\$1,300.00	\$15,600.00	\$1,262.00	\$15,144.00	\$750.00	\$9,000.00	\$2,526.96	\$30,323.52
154	6' PLAYER BENCH	UNIT	2.00	\$621.00	\$1,242.00	\$709.00	\$1,418.00	\$325.00	\$650.00	\$1,649.75	\$3,299.50
155	COLLAPSIBLE BOLLARD	UNIT	4.00	\$1,650.00	\$6,600.00	\$1,350.00	\$5,400.00	\$1,350.00	\$5,400.00	\$1,417.50	\$5,670.00
156	BARRIER NETTING	LF	400.00	\$112.00	\$44,800.00	\$98.00	\$39,200.00	\$115.00	\$46,000.00	\$102.90	\$41,160.00
157	FENCE TOP RAIL GUARD	LF	2733.00	\$4.00	\$10,932.00	\$4.50	\$12,298.50	\$1.50	\$4,099.50	\$4.73	\$12,927.09
158	FOUL LINE POLE	UNIT	14.00	\$1,600.00	\$22,400.00	\$1,000.00	\$14,000.00	\$1,200.00	\$16,800.00	\$1,050.00	\$14,700.00
159	BACKSTOP	UNIT	7.00	\$18,200.00	\$127,400.00	\$19,600.00	\$137,200.00	\$22,000.00	\$154,000.00	\$21,562.99	\$150,940.93
160	PITCHER'S PLATE	UNIT	18.00	\$500.00	\$9,000.00	\$283.00	\$5,094.00	\$150.00	\$2,700.00	\$297.15	\$5,348.70
161	HOME PLATE	UNIT	18.00	\$330.00	\$5,940.00	\$370.00	\$6,660.00	\$227.00	\$4,086.00	\$388.50	\$6,993.00
162	BASES	UNIT	18.00	\$980.00	\$17,640.00	\$315.00	\$5,670.00	\$520.00	\$9,360.00	\$330.75	\$5,953.50
163	PITCHER'S MOUND	UNIT	6.00	\$2,100.00	\$12,600.00	\$1,475.00	\$8,850.00	\$3,700.00	\$22,200.00	\$1,548.75	\$9,292.50
164	BATTER BOX	UNIT	6.00	\$2,500.00	\$15,000.00	\$2,005.00	\$12,030.00	\$2,300.00	\$13,800.00	\$2,105.25	\$12,631.50
165	FLAGPOLE	UNIT	1.00	\$14,000.00	\$14,000.00	\$16,740.00	\$16,740.00	\$13,000.00	\$13,000.00	\$33,715.63	\$33,715.63
166	SCOREBOARD	UNIT	7.00	\$10,100.00	\$70,700.00	\$4,600.00	\$32,200.00	\$18,000.00	\$126,000.00	\$14,843.24	\$103,902.68
167	CONCESSION BUILDING	LS	1.00	\$939,916.00		\$1,031,278.00	\$1,031,278.00	\$525,000.00	\$525,000.00	\$483,524.48	\$483,524.48
168	MAINTENANCE BUILDING	LS	1.00	\$629,416.00	\$629,416.00	\$976,946.00	\$976,946.00	\$470,000.00	\$470,000.00	\$541,240.88	\$541,240.88
169	CONTRACTOR ALLOWANCE FOR BUILDINGS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
170	CONTRACTOR ALLOWANCE FOR UTILITIES	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
171	CONTRACTOR ALLOWANCE FOR HAZARDOUS MATERIALS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
_				BID TOTAL =	\$20,000,265.29	BID TOTAL =	\$20,718,527.41	BID TOTAL =	\$21,152,017.00	BID TOTAL =	\$21,673,382.65

	SOMERSET COUNTY ENGINEERING - BID TABULAT	ION		BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		
	MOUNTAIN VIEW PARK, PHASE I	Black Rock Ente	ernrises LLC	Vollers		D'Annunzio & Sons, Inc.				
	LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSEY				vn Rd	PO Box 5297, 33	311 Rt. 22	136 Central Ave.		
	CONTRACT No. 14018	_ '		Old Bridge, NJ (North Branch, NJ 08876		Clark, NJ 07066		
	BIDS RECEIVED ON 2-12-15			(BID #12)		(BID #13)		(BID #14)		
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
1	PERFORMANCE BOND AND PAYMENT BOND	DOLLAR	1.00	\$145,000.00	\$145,000.00	\$128,315.00	\$128,315.00	\$110,000.00	\$110,000.00	
2	PROGRESS SCHEDULE	LS	1.00	\$15,000.00	\$15,000.00	\$25,300.00	\$25,300.00	\$34,823.00	\$34,823.00	
3	MOBILIZATION	LS	1.00	\$970,000.00	\$970,000.00	\$965,575.00	\$965,575.00	\$2,450,000.00	\$2,450,000.00	
4	FIELD OFFICE TYPE C SET UP	UNIT	1.00	\$55,000.00	\$55,000.00	\$41,400.00	\$41,400.00	\$75,000.00	\$75,000.00	
5	FIELD OFFICE TYPE C MAINTENANCE	MO	27.00	\$4,500.00	\$121,500.00	\$2,620.00	\$70,740.00	\$3,200.00	\$86,400.00	
6	INCENTIVE/DISINCENTIVE	LS	1.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	
7	CONSTRUCTION LAYOUT	DOLLAR	1.00	\$300,000.00	\$300,000.00	\$153,290.00	\$153,290.00	\$500,000.00	\$500,000.00	
8	INLET FILTER TYPE 2, 4' X 4'	UNIT	117.00	\$100.00	\$11,700.00	\$200.00	\$23,400.00	\$100.00	\$11,700.00	
9	CONCRETE WASHOUT SYSTEM	LS	1.00	\$8,000.00	\$8,000.00	\$8,325.00	\$8,325.00	\$5,000.00	\$5,000.00	
10	BIORETENTION SYSTEM	SY	3000.00	\$75.00	\$225,000.00	\$68.43	\$205,290.00	\$70.00	\$210,000.00	
11	HEAVY DUTY SILT FENCE, BLACK	LF	16600.00	\$2.85	\$47,310.00	\$5.20	\$86,320.00	\$6.00	\$99,600.00	
12	HAYBALE	UNIT	250.00	\$10.00	\$2,500.00	\$15.00	\$3,750.00	\$25.00	\$6,250.00	
13	CONSTRUCTION DRIVEWAY	TON	190.00	\$35.00	\$6,650.00	\$35.00	\$6,650.00		\$8,550.00	
14	OIL ONLY EMERGENCY SPILL KIT, TYPE 1	UNIT	1.00	\$1,750.00		\$1,665.00	\$1,665.00		\$2,500.00	
15	IMPERMEABLE LINER, 10 MIL THICK	SY	46900.00	\$3.50	\$164,150.00	\$1.68	\$78,792.00	\$1.20	\$56,280.00	
16	TRAFFIC DIRECTOR, FLAGGER	DOLLAR	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		\$10,000.00	
17	FUEL PRICE ADJUSTMENT	DOLLAR	1.00	\$130,500.00	\$130,500.00	\$130,500.00	\$130,500.00		\$130,500.00	
18	ASPHALT PRICE ADJUSTMENT	DOLLAR	1.00	\$198,300.00	\$198,300.00	\$198,300.00	\$198,300.00		\$198,300.00	
19 20	FINAL CLEANUP	LS LS	1.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00		\$10,000.00 \$950.000.00	
20	CLEARING SITE	SY	1.00 7000.00	\$670,000.00 \$5.00	\$670,000.00 \$35,000.00	\$433,543.00 \$13.00	\$433,543.00 \$91,000.00	\$950,000.00 \$10.00	\$70,000.00	
21	SELECTIVE THINNING RESET MONITORING WELL	UNIT	4.00	\$150.00	\$600.00	\$13.00	\$8,000.00	\$600.00	\$70,000.00	
22	MONITORING WELL BOX	UNIT	1.00	\$150.00	\$250.00	\$1,665.00	\$1,665.00		\$1,000.00	
23	EXCAVATION, TEST PIT	CY	100.00	\$50.00	\$5,000.00	\$55.50	\$5,550.00	\$1,000.00	\$10,000.00	
25	EXCAVATION, UNCLASSIFIED	CY	125000.00	\$10.50		\$8.40	\$1,050,000.00	\$6.50	\$812,500.00	
26	EXCAVATION, REGULATED MATERIAL	CY	43460.00	\$16.00	\$695,360.00	\$6.80	\$295,528.00		\$195,570.00	
27	SOIL SAMPLING AND ANALYSIS, REGULATED	UNIT	100.00	\$650.00	\$65,000.00	\$444.00	\$44,400.00	\$1,200.00	\$120,000.00	
28	REMOVAL OF PAVEMENT	TON	22000.00	\$18.00	\$396,000.00	\$15.90	\$349,800.00	\$20.00	\$440,000.00	
29	DISPOSAL OF REGULATED MATERIAL	TON	1000.00	\$40.00	\$40,000.00	\$90.00	\$90,000.00		\$90,000.00	
30	NO ITEM	XXXXX	XXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX	XXXXXXXX	XXXXXXXXXXX	
31	ORANGE PLASTIC CAUTION GEOTEXTILE	SY	61000.00	\$0.75	\$45,750.00	\$1.78	\$108,580.00	\$1.00	\$61,000.00	
	SOIL AGGREGATE BASE COURSE, VARIABLE	CY	2000.00							
32	THICKNESS	UT	2000.00	\$27.00	\$54,000.00	\$32.00	\$64,000.00	\$40.00	\$80,000.00	
33	SOIL AGGREGATE BASE COURSE, RCA	CY	14600.00	\$8.00	\$116,800.00	\$11.60	\$169,360.00	\$14.00	\$204,400.00	
34	DENSE-GRADED AGGREGATE BASE COURSE	CY	2000.00	\$25.00	\$50,000.00	\$43.80	\$87,600.00	\$55.00	\$110,000.00	
35	DENSE-GRADED AGGREGATE BASE COURSE, RCA	CY	12500.00	\$8.00	\$100,000.00	\$13.00	\$162,500.00	\$18.00	\$225,000.00	
36	COARSE AGGREGATE, NO. 57	CY	1000.00	\$30.00	\$30,000.00	\$43.40	\$43,400.00		\$25,000.00	
37	HOT MIX ASPHALT 12.5 M 76 SURFACE COURSE	TON	9020.00	\$88.00	\$793,760.00	\$90.40	\$815,408.00	\$90.00	\$811,800.00	
38	HOT MIX ASPHALT 25 M 64 BASE COURSE	TON	19330.00	\$76.00	\$1,469,080.00	\$80.25	\$1,551,232.50	\$73.00	\$1,411,090.00	
	MODIFIED OPEN-GRADED 12.5 FRICTION COURSE, 4"	SY	2566.00	* ~~ ~~	# 70,000,00	*••••	#00.040.00	* 40.00	¢400.040.00	
39	THK.	01		\$30.00	\$76,980.00	\$35.00	\$89,810.00	\$40.00	\$102,640.00	
40	TEXTURED SURFACE TREATMENT PAVEMENT POURED-IN-PLACE RUBBER SURFACING (CHALLENGER	SY	240.00	\$77.00	\$18,480.00	\$80.00	\$19,200.00	\$75.00	\$18,000.00	
41	POURED-IN-PLACE RUBBER SURFACING (CHALLENGER FIELD)	SY	2566.00	\$56.00	\$143,696.00	\$112.40	\$288,418.40	\$45.00	\$115,470.00	
42	POURED-IN-PLACE RUBBER SURFACING (PLAYGROUND)	SY	986.00	\$106.00	\$104 516 00	\$153.50	\$151,351.00	\$92.00	\$90,712.00	
42	12" REINFORCED CONCRETE PIPE	LF	850.00	\$106.00	\$104,516.00 \$36,550.00	\$75.55	\$64,217.50	\$92.00	\$38,250.00	
43	15" REINFORCED CONCRETE PIPE	LF	1250.00	\$43.00	\$55,000.00	\$75.55	\$97,250.00	\$55.00	\$68,750.00	
45	18" REINFORCED CONCRETE PIPE		750.00	\$47.00	\$35,250.00	\$82.75	\$62,062.50	\$40.00	\$30,000.00	
46	24" REINFORCED CONCRETE PIPE	LF	250.00	\$64.00	\$16,000.00	\$99.70	\$24,925.00	\$50.00	\$12,500.00	
47	36" REINFORCED CONCRETE PIPE	LF	170.00	\$89.00	\$15,130.00	\$148.80	\$25,296.00	\$115.00	\$19,550.00	
48	42" REINFORCED CONCRETE PIPE	LF	80.00	\$200.00	\$16,000.00	\$182.60	\$14,608.00	\$200.00	\$16,000.00	
49	8" HIGH DENSITY POLYETHYLENE PIPE	LF	4900.00	\$17.00	\$83,300.00	\$42.10	\$206,290.00	\$70.00	\$343,000.00	
50	10" HIGH DENSITY POLYETHYLENE PIPE	LF	760.00	\$20.00	\$15,200.00	\$44.00	\$33,440.00	\$50.00	\$38,000.00	
		• ·	•	•	•	•		•		

				BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME		
MOUNTAIN VIEW PARK, PHASE I			Black Rock Enterprises, LLC		Vollers		D'Annunzio & Sons, Inc.			
1	LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSEY			1316 Englishtow		PO Box 5297, 33	R11 Rt 22	136 Central Ave.		
-	CONTRACT No. 14018			Old Bridge, NJ 08857		North Branch, NJ 08876		Clark, NJ 07066		
	BIDS RECEIVED ON 2-12-15			(BID #12)		(BID #13)		(BID #14)		
1	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
51	12" HIGH DENSITY POLYETHYLENE PIPE	LF	170.00	\$21.00	\$3,570.00	\$65.30	\$11,101.00	\$60.00	\$10,200.00	
52	15" HIGH DENSITY POLYETHYLENE PIPE		520.00	\$21.00	\$12,480.00	\$75.80	\$39,416.00	\$60.00	\$31,200.00	
53	15 HIGH DENSITY POLYETHYLENE PIPE		320.00	\$32.00	\$10,240.00	\$81.20	\$25,984.00	\$80.00	\$25,600.00	
54			1230.00	\$38.00	\$46,740.00	\$91.75	\$112,852.50	\$85.00	\$104,550.00	
55	24" HIGH DENSITY POLYETHYLENE PIPE		550.00	\$38.00	\$22,550.00	\$107.30	\$59,015.00	\$65.00	\$35,750.00	
56	30" HIGH DENSITY POLYETHYLENE PIPE	LF	480.00	\$258.00	\$123,840.00	\$308.90	\$148,272.00	\$180.00	\$86,400.00	
57	38" X 60" REINFORCED CONCRETE ELLIPTICAL PIPE, CLASS HE - IV		480.00	\$258.00	\$123,840.00	\$133.10	\$73,205.00	\$180.00	\$55,000.00	
58	16" DUCTILE IRON PIPE, CLASS 52			\$94.00			\$73,205.00	* • • • •		
	1" X 12" OBLONG PERFORATED HIGH DENSITY POLYETHYLENE PIPE	LF	20050.00	+	\$250,625.00	\$15.64	** */** **	\$11.00	\$220,550.00	
59 60	4" PERFORATED HIGH DENSITY POLYETHYLENE UNDERDRAIN	LF	4500.00	\$15.00	\$67,500.00	\$22.50	\$101,250.00	\$12.00	\$54,000.00	
	VIDEO INSPECTION OF PIPE	LF	1300.00	\$3.25	\$4,225.00	\$5.00	\$6,500.00	\$5.00	\$6,500.00	
61	CLEANING EXISTING PIPE, 12" TO 24" DIAMETER	LF	1300.00	\$13.50	\$17,550.00	\$15.00	\$19,500.00	\$10.00	\$13,000.00	
62	12" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$1,150.00	\$1,150.00	\$1,470.00	\$1,470.00	\$600.00	\$600.00	
63	24" REINFORCED CONCRETE END SECTION	UNIT	2.00	\$1,950.00	\$3,900.00	\$2,190.00	\$4,380.00	\$1,200.00	\$2,400.00	
64	30" REINFORCED CONCRETE END SECTION	UNIT	1.00	\$2,150.00	\$2,150.00	\$2,520.00	\$2,520.00	\$1,500.00	\$1,500.00	
65	CONCRETE HEADWALL	CY	230.00	\$675.00	\$155,250.00	\$648.40	\$149,132.00	\$1,600.00	\$368,000.00	
66	8" DRAIN INLET	UNIT	5.00	\$700.00	\$3,500.00	\$1,360.00	\$6,800.00	\$1,500.00	\$7,500.00	
67	12" DRAIN INLET	UNIT	32.00	\$950.00	\$30,400.00	\$1,597.00	\$51,104.00	\$1,700.00	\$54,400.00	
68	15" DRAIN INLET	UNIT	5.00	\$1,250.00	\$6,250.00	\$1,797.00	\$8,985.00	\$2,000.00	\$10,000.00	
69	18" DRAIN INLET	UNIT	4.00	\$1,350.00	\$5,400.00	\$2,026.00	\$8,104.00	\$2,100.00	\$8,400.00	
70	24" DRAIN INLET	UNIT	12.00	\$1,650.00	\$19,800.00	\$2,337.00	\$28,044.00	\$2,100.00	\$25,200.00	
71	30" DRAIN INLET	UNIT	5.00	\$2,750.00	\$13,750.00	\$2,943.00	\$14,715.00	\$3,500.00	\$17,500.00	
72	8" INLINE DRAIN INLET	UNIT	32.00	\$500.00	\$16,000.00	\$1,004.00	\$32,128.00	\$1,000.00	\$32,000.00	
73	INLET, TYPE E	UNIT	20.00	\$2,450.00	\$49,000.00	\$3,495.00	\$69,900.00	\$3,000.00	\$60,000.00	
74	RECONSTRUCTED INLET, TYPE E, USING NEW CASTING	UNIT	1.00	\$1,750.00	\$1,750.00	\$2,150.00	\$2,150.00	\$3,000.00	\$3,000.00	
75	MANHOLE, 4' DIAMETER	UNIT	11.00	\$2,000.00	\$22,000.00	\$3,021.00	\$33,231.00	\$2,800.00	\$30,800.00	
76	RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50=6")	SY	650.00	\$35.00	\$22,750.00	\$45.40	\$29,510.00	\$50.00	\$32,500.00	
77	RIPRAP STONE CHANNEL PROTECTION, 16" THICK (D50=8")	SY	110.00	\$45.00	\$4,950.00	\$55.00	\$6,050.00	\$60.00	\$6,600.00	
78	RIPRAP STONE CHANNEL PROTECTION, 30" THICK (D50=15")	SY	180.00	\$100.00	\$18,000.00	\$127.00	\$22,860.00	\$100.00	\$18,000.00	
79	RIPRAP STONE CHANNEL PROTECTION, 36" THICK (D50=18")	SY	320.00	\$120.00	\$38,400.00	\$156.00	\$49,920.00	\$125.00	\$40,000.00	
80	CHAIN-LINK FENCE, ALUMINUM-COATED STEEL, 6' HIGH	LF	10620.00	\$21.00	\$223,020.00	\$24.00	\$254,880.00	\$23.00	\$244,260.00	
81	CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH	LF	6165.00	\$37.00	\$228,105.00	\$44.00	\$271,260.00	\$41.00	\$252,765.00	
82	CHAIN-LINK FENCE, PVC-COATED STEEL, 8' HIGH	LF	504.00	\$60.00	\$30,240.00	\$76.00	\$38,304.00	\$70.00	\$35,280.00	
83	CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH	LF	800.00	\$77.00	\$61,600.00	\$92.25	\$73,800.00	\$85.00	\$68,000.00	
84	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 4' WIDE	UNIT	2.00	\$600.00	\$1,200.00	\$650.00	\$1,300.00	\$600.00	\$1,200.00	
85	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 10' WIDE	UNIT	1.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	
86	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 12' WIDE	UNIT	6.00	\$1,100.00	\$6,600.00	\$1,310.00	\$7,860.00	\$1,400.00	\$8,400.00	
87	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 15' WIDE	UNIT	1.00	\$1,245.00	\$1,245.00	\$1,532.00	\$1,532.00	\$1,600.00	\$1,600.00	
88	GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL, 24' WIDE	UNIT	3.00	\$2,100.00	\$6,300.00	\$2,975.00	\$8,925.00	\$2,800.00	\$8,400.00	
89	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH x 3'-8" WIDE	UNIT	12.00	\$700.00	\$8,400.00	\$650.00	\$7,800.00	\$600.00	\$7,200.00	
	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 10' HIGH X 3'-8"	UNITT	44.00		·					
90	WIDE	UNIT	14.00	\$1,000.00	\$14,000.00	\$1,099.00	\$15,386.00	\$1,000.00	\$14,000.00	
91	GATE, CHAIN-LINK FENCE, PVC-COATED STEEL, 6' HIGH X 6' WIDE	UNIT	2.00	\$85.00	\$170.00	\$872.00	\$1,744.00	\$800.00	\$1,600.00	
92	STEEL FENCE, 4' HIGH	LF	128.00	\$86.00	\$11,008.00	\$95.25	\$12,192.00	\$90.00	\$11,520.00	
93	CONCRETE SIDEWALK, 5" THICK	SY	3367.00	\$58.00	\$195,286.00	\$58.60	\$197,306.20	\$62.00	\$208,754.00	
94	DETECTABLE WARNING SURFACE	SY	70.00	\$310.00	\$21,700.00	\$333.00	\$23,310.00	\$410.00	\$28,700.00	

SOMERSET COUNTY ENGINEERING - BID TABULATION			BIDDER'S NAME		BIDDER'S NAME		BIDDER'S NAME			
MOUNTAIN VIEW PARK, PHASE I				Black Rock Ente	erprises LLC	Vollers		D'Annunzio & Sons, Inc.		
1	LLSBOROUGH TOWNSHIP, SOMERSET COUNTY, NEW JERSEY			1316 Englishtow		PO Box 5297, 33	R11 Rt 22	136 Central Ave.		
-	CONTRACT No. 14018	- •		Old Bridge, NJ C		North Branch, N.		Clark, NJ 07066		
	BIDS RECEIVED ON 2-12-15			(BID #12)		(BID #13)		(BID #14)		
[DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
95	12" X 13" CONCRETE SLOPING CURB	LF	250.00	\$23.00	\$5,750.00	\$22.20	\$5,550.00	\$32.00	\$8,000.00	
96	6" X 18" CONCRETE VERTICAL CURB	LF	10780.00	\$19.00	\$204.820.00	\$17.76	\$191,452.80	\$19.00	\$204,820.00	
97	CONCRETE WHEEL STOP	UNIT	18.00	\$85.00	\$1,530.00	\$127.65	\$2,297.70	\$200.00	\$3,600.00	
98	TRAFFIC STRIPES, THERMOPLASTIC, 4"	LF	30300.00	\$0.70	\$21,210.00	\$0.67	\$20,301.00	\$0.70	\$21,210.00	
99	TRAFFIC MARKINGS, THERMOPLASTIC	SF	1850.00	\$6.00	\$11,100.00	\$6.11	\$11,303.50	\$2.50	\$4,625.00	
100	REGULATORY AND WARNING SIGN	SF	100.00	\$44.00	\$4,400.00	\$44.40	\$4,440.00	\$45.00	\$4,500.00	
101	6" DUCTILE IRON WATER PIPE, CLASS 52	LF	70.00	\$50.00	\$3,500.00	\$58.90	\$4,123.00	\$200.00	\$14,000.00	
102	8" DUCTILE IRON WATER PIPE, CLASS 52	LF	3700.00	\$52.00	\$192,400.00	\$67.50	\$249,750.00	\$65.00	\$240,500.00	
103	2" HDPE WATER PIPE	LF	250.00	\$26.00	\$6,500.00	\$27.50	\$6,875.00	\$40.00	\$10,000.00	
104	6" WATER METER AND VAULT	LS	1.00	\$60,000.00	\$60,000.00	\$40,350.00	\$40,350.00	\$60,000.00	\$60,000.00	
105	6" BACKFLOW PREVENTER AND ENCLOSURE	LS	1.00	\$42,000.00	\$42,000.00	\$51,025.00	\$51,025.00	\$50,000.00	\$50,000.00	
106	FIRE HYDRANT	UNIT	3.00	\$5,100.00	\$15,300.00	\$5,288.00	\$15,864.00	\$5,000.00	\$15,000.00	
107	YARD HYDRANT	UNIT	1.00	\$2,750.00	\$2,750.00	\$2,630.20	\$2,630.20	\$2,500.00	\$2,500.00	
108	8" POLYVINYL CHLORIDE SEWER PIPE	LF	2820.00	\$60.00	\$169,200.00	\$80.25	\$226,305.00	\$90.00	\$253,800.00	
109	SANITARY SEWER CLEANOUT	UNIT	5.00	\$360.00	\$1,800.00	\$1,265.00	\$6,325.00	\$500.00	\$2,500.00	
110	MANHOLE, SANITARY SEWER	UNIT	18.00	\$3,500.00	\$63,000.00	\$5,858.00	\$105,444.00	\$5,000.00	\$90,000.00	
	RECONSTRUCTED MANHOLE, SANITARY SEWER, USING EXISTING	UNIT	1.00	A	A (AA	Aa	AA = = = = 1	Aa	
111	CASTING			\$1,000.00	\$1,000.00	\$3,983.00	\$3,983.00	\$3,500.00	\$3,500.00	
112	SANITARY SEWER PUMP STATION	LS	1.00	\$220,000.00	\$220,000.00	\$288,445.00	\$288,445.00	\$350,000.00	\$350,000.00	
113	4" PVC SANITARY SEWER FORCE MAIN	LF	3150.00	\$30.00	\$94,500.00	\$39.70	\$125,055.00	\$35.00	\$110,250.00	
114	REINFORCED CONCRETE BLEACHER PAD	SF	2800.00	\$7.00	\$19,600.00	\$16.65	\$46,620.00	\$15.00	\$42,000.00	
115	REINFORCED CONCRETE GENERATOR PAD	SF	100.00	\$30.00	\$3,000.00	\$90.00	\$9,000.00	\$150.00	\$15,000.00	
116	REINFORCED CONCRETE DUGOUT PAD	SF	3542.00	\$15.00	\$53,130.00	\$15.50	\$54,901.00		\$88,550.00	
117	LUMINAIRE, TYPE A	UNIT	26.00	\$7,425.00	\$193,050.00	\$6,660.00	\$173,160.00	\$7,500.00	\$195,000.00	
118 119	LUMINAIRE, TYPE B	UNIT	37.00 2.00	\$5,520.00 \$5,620.00	\$204,240.00 \$11,240.00	\$4,718.00	\$174,566.00	\$5,400.00 \$5,400.00	\$199,800.00	
120	LUMINAIRE, TYPE C LUMINAIRE, TYPE J	UNIT UNIT	11.00	\$5,885.00	\$64,735.00	\$4,773.00 \$4,995.00	\$9,546.00 \$54,945.00		\$10,800.00 \$62,700.00	
120	LUMINAIRE, TYPE J	UNIT	12.00	\$5,885.00	\$70,620.00	\$5,100.00	\$61,200.00	\$5,700.00	\$68,400.00	
121	BALLFIELD LIGHTING	LS	12.00	\$877,400.00	\$877,400.00	\$937,950.00	\$937,950.00		\$995,000.00	
122	SITE ELECTRICAL WORK	LS	1.00	\$1,911,000.00		\$1,649,460.00		\$1,425,000.00	\$1,425,000.00	
123	BORROW TOPSOIL	CY	41600.00	\$35.00	\$1,456,000.00	\$39.12	\$1,627,392.00	\$42.00	\$1,747,200.00	
125	BORROW TOPSOIL, BALLFIELDS	CY	5300.00	\$42.00	\$222,600.00	\$48.00	\$254,400.00	\$46.00	\$243,800.00	
126	TOPSOIL STABILIZATION, TYPE 3 MAT	SY	14400.00	\$5.00	\$72,000.00	\$3.94	\$56,736.00	\$5.00	\$72,000.00	
127	TOPSOIL STABILIZATION, TYPE 4 MAT	SY	46900.00	\$3.00	\$140,700.00	\$3.61	\$169,309.00	\$3.00	\$140,700.00	
128	BALLFIELD INFIELD MIX	TON	2310.00	\$110.00	\$254,100.00	\$133.20	\$307,692.00	\$160.00	\$369,600.00	
129	SMALL DECIDUOUS TREE, 7-8' HIGH, B&B	UNIT	56.00	\$160.00	\$8,960.00	\$220.00	\$12,320.00	\$250.00	\$14,000.00	
130	SMALL DECIDUOUS TREE, 6-7' HIGH, B&B	UNIT	7.00	\$250.00	\$1,750.00	\$200.00	\$1,400.00	\$200.00	\$1,400.00	
131	SMALL DECIDUOUS TREE, 5-6' HIGH, B&B	UNIT	41.00	\$195.00	\$7,995.00	\$195.00	\$7,995.00	\$180.00	\$7,380.00	
132	EVERGREEN TREE, 7-8' HIGH, B&B	UNIT	92.00	\$250.00	\$23,000.00	\$290.00	\$26,680.00	\$250.00	\$23,000.00	
133	DECIDUOUS SHRUB, 4-5' HIGH, B&B	UNIT	23.00	\$75.00	\$1,725.00	\$115.00	\$2,645.00	\$100.00	\$2,300.00	
134	DECIDUOUS SHRUB, 18-24" HIGH, #3 CONTAINER	UNIT	205.00	\$50.00	\$10,250.00	\$45.00	\$9,225.00	\$50.00	\$10,250.00	
135	PERENNIAL, #1 CONTAINER	UNIT	1875.00	\$15.00	\$28,125.00	\$13.50	\$25,312.50	\$15.00	\$28,125.00	
136	FERTILIZING AND SEEDING, BALLFIELD GRASS MIXTURE	SY	30900.00	\$0.80	\$24,720.00	\$1.33	\$41,097.00	\$1.00	\$30,900.00	
137	FERTILIZING AND SEEDING, NORTHEAST U.S. ROADSIDE MIXTURE	SY	213600.00	\$0.85	\$181,560.00	\$1.67	\$356,712.00	\$0.90	\$192,240.00	
138	FERTILIZING AND SEEDING, UPLAND MEADOW MIXTURE	SY	1370.00	\$1.10	\$1,507.00	\$1.67	\$2,287.90	\$2.01	\$2,753.70	
139	FERTILIZING AND SEEDING, TYPE A-4	SY	168710.00			\$1.25	\$210,887.50		\$118,097.00	
140	FERTILIZING AND SEEDING, TYPE B	SY	4180.00	\$1.00	\$4,180.00	\$1.25	\$5,225.00	\$1.00	\$4,180.00	
141	MOWING	SY	172891.00	\$1.25	\$216,113.75	\$0.30	\$51,867.30		\$570,540.30	
142	MOWING BALLFIELDS	SY	30900.00	\$1.25	\$38,625.00	\$0.60	\$18,540.00		\$108,150.00	
143	IRRIGATION SYSTEM	LS	1.00	\$320,000.00	\$320,000.00	\$273,170.00	\$273,170.00		\$300,000.00	
144	STONE SEATWALL	LF	122.00	\$300.00	\$36,600.00	\$333.00	\$40,626.00		\$97,600.00	
145	BATTING TUNNEL	LS	1.00	\$30,000.00	\$30,000.00	\$28,350.00	\$28,350.00		\$25,000.00	
146	PLAYGROUND EQUIPMENT	LS	1.00	\$140,000.00	\$140,000.00	\$137,725.00	\$137,725.00	\$100,000.00	\$100,000.00	
147	DUGOUT STRUCTURE	UNIT	14.00	\$25,000.00	\$350,000.00 \$55,000.00	\$12,700.00	\$177,800.00	\$10,000.00	\$140,000.00	
148 149	STORAGE BUILDING, 14' BY 24' OCTAGONAL PAVILION	UNIT UNIT	2.00 2.00	\$27,500.00 \$63,000.00	\$126,000.00	\$11,855.00 \$48,315.00	\$23,710.00 \$96,630.00		\$20,000.00 \$110,000.00	
143			2.00	ψ03,000.00	ψ120,000.00	ψ-τ0,515.00	ψ30,030.00	ψ00,000.00	ψ110,000.00	

	SOMERSET COUNTY ENGINEERING - BID TABULATI	BIDDER'S NAME BIDDER'S NAME		BIDDER'S NAME						
	MOUNTAIN VIEW PARK, PHASE I			Vollers		D'Annunzio & Sons, Inc.				
1	· · · · · · · · · · · · · · · · · · ·				1316 Englishtown Rd		PO Box 5297, 3311 Rt. 22		136 Central Ave.	
L				Old Bridge, NJ C		North Branch, NJ 08876		Clark, NJ 07066		
BIDS RECEIVED ON 2-12-15				(BID #12)		(BID #13)		(BID #14)		
	DESCRIPTION	UNIT	QUANTITY	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	
150	CONCRETE BLOCK STORAGE BIN	LS	1.00	\$10.000.00	\$10.000.00	\$11.675.00	\$11.675.00	\$15,000.00	\$15,000.00	
151	BLEACHER	UNIT	14.00	\$11.350.00	\$158,900.00	\$6,480.00	\$90,720.00	\$7,500.00	\$105,000.00	
152	PARK BENCH	UNIT	10.00	\$2,000.00	\$20.000.00	\$1,111.00	\$11.110.00	\$1,000.00	\$10,000.00	
153	21' PLAYER BENCH	UNIT	12.00	\$2,500.00	\$30,000.00	\$1,965.00	\$23,580.00	\$1,500.00	\$18,000.00	
154	6' PLAYER BENCH	UNIT	2.00	\$885.00	\$1,770.00	\$782.00	\$1,564.00	\$1,200.00	\$2,400.00	
155	COLLAPSIBLE BOLLARD	UNIT	4.00	\$1.500.00	\$6,000.00	\$2,140.00	\$8,560.00	\$1.500.00	\$6.000.00	
156	BARRIER NETTING	LF	400.00	\$120.00	\$48,000.00	\$128.00	\$51,200.00	\$150.00	\$60,000.00	
157	FENCE TOP RAIL GUARD	LF	2733.00	\$4.70	\$12,845.10	\$6.00	\$16,398.00	\$5.00	\$13,665.00	
158	FOUL LINE POLE	UNIT	14.00	\$1,650.00	\$23,100.00	\$3,005.00	\$42,070.00	\$2,000.00	\$28,000.00	
159	BACKSTOP	UNIT	7.00	\$23,700.00	\$165,900.00	\$25,940.00	\$181,580.00	\$23,000.00	\$161,000.00	
160	PITCHER'S PLATE	UNIT	18.00	\$400.00	\$7,200.00	\$146.00	\$2,628.00	\$200.00	\$3,600.00	
161	HOME PLATE	UNIT	18.00	\$500.00	\$9,000.00	\$146.00	\$2,628.00	\$200.00	\$3,600.00	
162	BASES	UNIT	18.00	\$640.00	\$11,520.00	\$146.00	\$2,628.00	\$200.00	\$3,600.00	
163	PITCHER'S MOUND	UNIT	6.00	\$1,650.00	\$9,900.00	\$4,440.00	\$26,640.00	\$5,000.00	\$30,000.00	
164	BATTER BOX	UNIT	6.00	\$2,250.00	\$13,500.00	\$1,332.00	\$7,992.00	\$5,000.00	\$30,000.00	
165	FLAGPOLE	UNIT	1.00	\$13,000.00	\$13,000.00	\$10,166.00	\$10,166.00	\$15,000.00	\$15,000.00	
166	SCOREBOARD	UNIT	7.00	\$20,500.00	\$143,500.00	\$11,927.00	\$83,489.00	\$10,000.00	\$70,000.00	
167	CONCESSION BUILDING	LS	1.00	\$980,000.00	\$980,000.00	\$1,120,000.00	\$1,120,000.00	\$950,000.00	\$950,000.00	
168	MAINTENANCE BUILDING	LS	1.00	\$825,000.00	\$825,000.00	\$705,000.00	\$705,000.00	\$900,000.00	\$900,000.00	
169	CONTRACTOR ALLOWANCE FOR BUILDINGS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
170	CONTRACTOR ALLOWANCE FOR UTILITIES	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
171	CONTRACTOR ALLOWANCE FOR HAZARDOUS MATERIALS	LS	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
_				BID TOTAL =	\$21,995,573.85	BID TOTAL =	\$22,217,756.00	BID TOTAL =	\$24,577,000.00	